4
&

&
EMERSON

Operating instruction
Oil Level Monitoring Systems
OwW4 / OWS5 TraxOil

S,

General information:

All versions use a Hall-Sensor to measure theeo#ll A magnetic float changes,
its position according to the oil level. The hahsor converts these magnetic
field changes into an equivalent signal, whichsediby the internal electronic,
to show the actual oil level with the LED’s. Forpéipation in refrigeration

systems according to EN 378.
Notes:

OW is developed for HFC refrigerants, subcritical G, and specified HFO

blends.

OWS is specially adapted to the requirements of tnascritical CO, systems

and has to be used with dedicated types of G@dapters.

System components: (see table “Overview” and Fig.3B)

B: Installation with Rotalock adapters: (see Fig.13)
Adapter types: OM0-CCD, OMO-CCE + CO,-Versions

1. Remove and discard the screw transport holderr{®h fthe back side,
which secure screws and sight glass during tratesipmn.

Locate O-ring (10) into the Adapter. (front side).

Locate the stamped groove into the adapter (1%lif)e with the base unit
(1) marking (Fig.2).

4. Mount the base unit (1) including O-ring (10) te gdapter (15/17).

5. Tighten the three screws (7 & 8) only hand tighert gradually and evenly
in % turns until reaching the dedicated torque2NIn. This procedure is
mandatory to achieve full leak tightness.

Remove the sight glass from the compressor.

Mount supplied PTFE gasket (18) into nut of adapgfef). Put entire
assembly to compressor connection and while holdiogzontally to
comply with Fig.3, tighten by hand and apply torqie&0 Nm for OMO-
CCD (wrench size 50 mm) and 65 Nm for OMO-CCE (wtesize 42 mm).
Note 1: For proper function the unit must be instaled horizontally (Fig.3).

1.Preparation: Remove plug or sight glass from tharacbmpressor and make stgte 2: Check Rotalock adapters for tightness aftet-2 days of operation.

the thread is free of sealing material and no &ito of damages. C: Installation with Flange adapter: (see Fig.1-3)

Adapter types: OM0-CUA, OM0-CCC + CO,-Versions

The use of flange type adapter is applicable tselsshaving the same holes

arrangement as adapter. This insures the horizioistallation of OW (Fig.3).

1. Follow steps 1 - 6 like Rotalock installation.

2. Mount O-ring (16) between adapter (15) and compreddses screws M6
(not part of delivery) and tighten acc. to compoessnanufacturer
instruction.

Safety instructions:

Read operating instructions thoroughly. Failure tocomply can result in device

failure, system damage or personal injury.

According to EN 13313 it is intended for use by peons having the 5

appropriate knowledge and skill. 3'

« In a severely contaminated system, avoid breathingcid vapors and avoid ™
contact with skin from contaminated refrigerant / lubricants. Failure to do so
could result in injury.

« Before opening any system make sure pressure in g is brought to and
remains at atmospheric pressure.

* Do not exceed the specified maximum ratings for pesure, temperature, 6
voltage and current. 7'

« Before installation or service disconnect all voltges from system and device. **

Note: Float contains lead and has to be recycled gase of disposal!

A: Installation with Screw Adapters: (see Fig.1-3)
Adapter types: OMO-CCA, OM0-CBB, OMO0-CCB + CO,-Versions

3.Mount adapter (11 or 12) with consideration adafyiee as follows:

- Inspect thread part and sealing surface is freecst and burrs.

Warning: Over or insufficient tightening, will damage the thread or causepressure Test:

After completion of installation, a pressure tesistrbe carried out as follows:

- according to EN 378 for systems which must comptj \European pressure
equipment directive 14/68/EU.

Emerson Climate Technologies GmbH
Am Borsigturm 31 |1 13507 Berlin | Germany

www.emersonclimate.eu

- OMO-CBB + COzVersions mount O-ring (13) to the adapter (12). Pay amm—,to maximum working pressure of system for otheriapfions.
to proper seating of the O-ring when mounting ttiepger. Tighten by hand an
Warning:
- OMO-CCB + CO.-Versions locate O-ring (13) inside vessel female port ndo * Failure to do so could result in loss of refrigerahand personal injury.
reuse old female port O-ring. Tighten by hand applya50 Nm torque. Follow* The pressure test must be conducted by skilled perss with due respect
regarding the danger related to pressure

4.Remove and discard the screw transport holderr@) the back side, whichrightness Test:

Conduct a tightness test acc. to EN 378-2 with gmte equipment and
6.Locate the stamped groove into the adapter ringigiléhe with the base unit (1ynethod to identify leakages of external joints.

7.Mount the base unit (1) including O-ring (10) te #tdapter ring (14).
Note: For proper function the unit must be installed horizontally by rotating

No |Description No | Description
1 |Baseun 11/12 |Adapter with thread connecti
2 |[Sight glass (ring OW/ 13 |Adapter Cring backsid
. Flange ring - Aluminium (OW4)
3 |Sight glass OW4 14 Steel OWS)
4 |Sight glass +ring OWE 15 |Flange adapte h .
5 [Sight glass OM 16 |Flange adapter-ring backside 2.Put adapter ring (14) loose on vessel thread cadiumec
6 [ Spring washer: 3 pcs (OW4) 17| Rotalock adapter
7 [Screws (M6 x 4t 18 |Gaske Rotalock adapter backs|| NPTF tapered threaded Adapters (11):
8 [Countersunk screw 1pcs (OW5)19 | Power supply cable OW-24V-3 ! >
Screw transport holder - Wrap teflon tape around male thread in proper toac
9 |(discard) 20 | Relay connector for OM3-Nxx | _ screw adapter into port and tight by hand untipstached.
1C_|Adapter front Cring - Tighten by wrench with 80 Nm for 3/4"-14NPTF contiens
- Do not turn backward!
Technical Data:
the leakage.
owa OW5 - Follow below step 4 - 8.
Max. working pressure f 60 ba 100 ba UNF/UNEF threaded Adapters (12):
Test Pressure PT 66 bar 110 bar
. . selected HFC/ HFO blen
Medium compatibility & CO; Co, only apply 50 Nm torque. Follow below step 4 - 8.
Supply Voltag 24VAC+10%, 50/60 H:
Current 0.05A
Alarm contact ratin 3A/230 VAC below step 4 - 8.
Alarm switct SPD1
Time delaywarning 10 se. [10 sec secure screws and sight glass during transportation
Time delay larm 20 ec [120 sec 5.Locate O-ring (10) into the Adapter (11 or 12) (irside).
Medium temperatu -20...+80°C
Storage, transport and ambient -15...+50°C (housing) marking (Fig.2).
temgeratur
Protection clas IP65 (IEC529EN6052!
Marking c € ace. EMC and LVD Adapter ring (14) (Fig.3).

8.Tighten the three screws (7 & 8) only hand tighert gradually and evenly in ¥2
turns until reaching the dedicated torque of 12 Nhis procedure is mandatory
to achieve full leak tightness.

Date: 26.07.2019 OW45_0OI_ML_RO05_865893.docx



4

A, Operating instruction
s Oil Level Monitoring Systems @
EMERSON. OW4 / OWS5 TraxQil

The current status is indicated with the 3 LEDs &zthe following table:

Wiring: Operation: (Fig.4) Operating Condition / i Contact

* Note: Do not switch the compressor directly. Use ampressor's power relay OW4/5 are fully level controlled. The sight glaggach device is divided into threeStatus Function position LED
instead. See Fig.4 for connection of OW to the sajeloop (SL) of a rack operational zones. When the level reaches theweltme OW starts switching opSupply power is off or OK BK-BU close [0)
controller. the yellow LED after a time delay of 10 sec. Furtlesrel drop to the red zone willnormal oil level (6-40% BK-BN oper | Green

» Connect the OM3-Nxx cable (20) to the relay conioecaccording Fig.3,4:  switch the alarm relay after a time delay26fseqOW4) or120 seOW5). Oil Level (close 40%) OK Greer @ vellow O

BU=blue  BK=black BN = brown Oil Level (40-25%) Warning Yellow O
* Connect OW-24V-3 cable (19) wires to power supgly&C. - BK-BU open
» Recommended torque for the plug screws is 0.15 md-tight). Oil level too low <25% Alarm | B BN close | Red ® veion©

Overview OW4.../OW5...: (see Fig.1)

Base unit OWA4...(60 bar) OWS5...(100 bar) OWA4... (60 bar) OWS5...(100 bar) OWA4... (60 bar) OWS5...(100 bar)
) selected HFC/ HFO blends selected HFC/ HFO blends selected HFC/ HFO blends
. Refrigerant &CO, CcO; &CO, CcO; &CO, CcO;
< Sight glass High Pressure High Pressure High Pressure
5 O-ring (mm) 33.3x2.4W(2) 33.3x24V (4) 33.3x2.4WM2) 33.3x2.4\ (4) 33.3x2.4WM2) 33.3x2.4\ (4)
2 Sight glass S () ®) ©) 3 ®)
o Washers (6) 3 pieces - 3 pieces - 3 pieces -
Fastening screws 3 screws 2 screws 3 screws 2 screws 3 screws 2 screws
7) M6x45 M6x45 M6x4E M6x45 M6x45 M6x45
Fastening screws . 1 countersunk ) 1 countersunk ) 1 countersunk
(8) screw M6x4! screw M6x4! screw M6x4!
Connection type Thread NPTF Thread UNF/UNEF
OMO-CCA | OMO-CCA CO2 OMO0-CBB OMO-CBB CO2 OMO0-CCB | OMO-CCB CO2
W N
—‘JQ = = 7
Adapter type ( ' 36
ﬂ == W AN -
- L— 30—» Lf 34—»| Al
]
-§ Connection size 3/4“-14 NPTF 3/4“-14 NPTF 1-1/8"-18 UNEF 1-1/8“-12 UNF
< Part No. 805039 805339 805038 805338 805040 | 805340
Main part Aluminum screw adaptéil) Aluminum screw adaptef.2) Aluminum screw adapt€i2)
Second part Aluminum flange(14) Steel flangg14) Aluminum flange(14) Steel flangg14) Aluminum flange(14) Ste((aizfll)ange
. High pressure O-ring High pressure O-ring High pressure O-ring
O-Ring (mm) (10) 25.07x2.62W 25 07x2.62V 25.07x2.62W 25 07x2.62V 25.07x2.62W 25 07x2.62V
Sealing parts O-ring High Pressure O-ring O-ring High Pressure O-ring
to Vessel (mm) Tapered thread (Teflon tape) 28.3x1.78W(13) 33.3x2.4V(13) 28.3x1.78W(13) 33.3x2.4V(13)

Note: The numbers in brackets correspond to legendsgof Fi

Emerson Climate Technologies GmbH

www.emersonclimate.eu

Am Borsigturm 31 |1 13507 Berlin | Germany

Date:

26.07.2019

OW45_0Ol_ML_RO05_865893.docx




4

&

Operating instruction
Oil Level Monitoring Systems

S,

EMERSON. OwW4 /| OW5 TraxOill
Overview OW4.../OW5...: (see Fig.1)
Base unit OW4...(60 bar) | OWS5... (100 bar) OWS... (100 bar) OW4... (60 baj OWS... (100 bar)| OWA4...(60 bay OWS... (100 bar) ] OWA4...(60 bar) | OWS5... (100 bar)
. selected HFC/ HFQ selected HFC/ HF( selected HFC/ HFOQ selected HFC/ HFO
Refrigerant blends & CQ CC CQ blends & CQ CC blends & CQ CC. blends & CQ CC,
o
= Sight glass High Pressure High Pressure High Pressure High Pressure High Pressure
o O-ring (mm) 33.3x2.4W(2) 33.3x2.4V(4) 33.3x2.4V(4) 33.3x2.4WQ2) 33.3x2.4V(4) 33.3x2.4WQ2) 33.3x2.4V(4) 33.3x2.4W(2) 33.3x2.4V(4)
=
% Sight glass 3 (5) ®) 3 ®) 3 5 3 (5)
Washers (6) 3 pieces - - 3 pieces - 3 pieces - 3 pieces -
Fastening screws 3 screws 2 screws 2 screws 3 screws 2 screws 3 screws 2 screws 3 screws 2 screws
(7) M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45
Fastening screws : 1 countersunk 1 countersunk ) 1 countersunk ) 1 countersunk ) 1 countersunk
(8) screw M6x4! screw M6x4! screw M6x4! screw M6x4! screw M6x4!
Connection type Flange Rotalock
OMO-CUA* ‘OMO-CUA CO2* OMO-CUD CO2* OMO-CCC* ‘OMO-CCC CO2* OMO-CCD ’ OMO-CCD CO2 OMO-CCE ‘ OMO-CCE CO2
4 . o 4 : ;
r T ]
w w
= z
=) 2 T
Adapter type 60 60 Ex 36 Ex 36
E% 0
g | 3% |
2 !
«— 36— +— 40—
g
§ Connection size 3-/4-holes 3-/4-holes 6-/6 holes 3 holes 3dole 1-3/4"-12 UNF 1-1/4"-12 UNF
< Part No. 805037 805337 805049 805041 805341 805042 | 805342 50480 | 805343
Main part Aluminum flange(15) Aluminum flange(15) Aluminum flange(15) Aluminum nut and flangél7) Aluminum nut and flangél7)
Second part - - - - - - - - -
i High pressure Qing| High pressure O-ring High pressure Qing| High pressure @ing High pressure Qing
O-Ring (mm) (10) 25.07x2.62W 25 07%2.62V 25 07%2.62V 25.07x2.62W 25 07%2.62V 25.07x2.62W 25 07%2.62V 25.07x2.62W 25 07%2.62V
) O-ring High pressure Qing| High pressure O-ring O-ring High pressure Qing agn 174"
tff/i'g‘sgelp(?;‘; \ 33.3x2.4W 33.3x2.4V 33.3x2.4V 33.3x2.4W 33.3x2.4V GaSke‘(Fl’g)F E1-3/4 Gas"e‘gg: E1-1/4
(16) (16) (16) (16) (16)

Note: The numbers in brackets correspond to legendsgof Fi

Emerson Climate Technologies GmbH
Am Borsigturm 31 |1 13507 Berlin | Germany

www.emersonclimate.eu

Date: 26.07.2019

*) M6 screws for fastening aat part of delivery.

OW45_0Ol_ML_RO05_865893.docx



4

A, Bet_r.iebsanleitung
‘§' Elektronische Olstandiiberwachung
EMERSON OW4 / OW5 TraxOil
Hinweis: Fir einwandfreie Funktion Reglereinheit exkt horizontal

Beschreibung: A Sicherheitshinweise: montieren. Dafir den Adapterring (14) drehen. (Fig3).

él(l;\,\\fiiﬁg:?/r;gﬁzzeﬂqgir;gls(tjellggrr]\:jlt;eelﬁ]glgiz%ﬂs];);i:gg;&?%g;sggi[ Lesen Sie die Betriebsanleitung griindlich. Nichtbezhtung kann zum 8. Dje drei Schrauben (7 & 8) zuerst handfest anzigti@mn abwechselnd jeweils
! Versagen oder zur Zerstorung des Gerates und zu Vietzungen fiihren. eine halbe Umdrehung bis zu einem Drehmoment vorNm2 Dieses
Verfahren ist zwingend notwendig um vollstandigelidieit zu erreichen.

In ein Signal um, mit de_m d“|e integrierte Elektionlen Olstand mit LEDs | Der Einbau darf gemalR EN 13313 nur von Fachkraftervorgenommen
anzeigt. Zur Anwendung in Kélteanlagen gem. EN 378. werden

Hinweise: . Roi . ) ) . . ) L . )
OW4 ist fir HFC Kaltemittel, subkritisches CO, und bestimmte HFO :ih@g‘;‘%ﬁ;{;ﬂiﬁfgﬁ&iI‘:fitaélr(%g;?n?;sﬁuz gg:sgtgesﬁggtigﬂg%mh?’ B: Installation mit Rotalockadapter: (sn_ehe Fig-1-3
Gemische. g9 p Adaptertypen: OM0-CCD, OMO-CCE + CO.-Versionen

OWS sind speziell an die Erfordernisse von transktischem CQ, angepasst Kaltemittel oder mit Olen zu vermeiden. Nichtbeachting kann zu 1 Transportsicherung (9) auf der Riickseite des OVéeren und entsorgen

und dirfen nur zusammen mit den speziellen C® Adaptern eingesetzt Verletgunger) fiihren. . R 2.0-Ring (10) an der Vorderseite des Adapters (Inggen. ) )
werden. « Der Kaltekreislauf darf nur in drucklosem Zustand getffnet werden. 3.Die an der AuRenseite des Adapters (15/17) eingestaMarkierung mit der
+Die angegebenen Grenzwerte fiir Druck, Temperatur, #m und Markierung der Reglereinheit (1) in Ubereinstimmimiggen (Fig.2).
Systemkomponenten:(siehe Tabelle “Ubersicht” und Fig.1,3) Spannung nicht tberschreiten. ) ) _4.Reglereinheit (1) mit O-Ring (10) an den Adaptes)(montieren.
Nr. |Beschreib N | Beschreb +Vor Installation oder Wartung sind die Anlage und das Bauteil 5 pie drei Schrauben (7 & 8) zuerst handfest anzietienn abwechselnd jeweils
I |Beschreibung r. | beschreibung spannungsfrei zu schalten. ) eine halbe Umdrehung bis zu einem Drehmoment vdWri2Dieses Verfahren
1 [Reglereinhe 11/1; |Adapter mit Schraubgewin Hinweis: Der Schwimmer enthalt Blei und muss fachgecht entsorgt st zwingend notwendig um volistandige Dichtheiterceichen.
2 [Schauglas -Ring OW« 13 |hinterer Adapter -Ring werden! 6.Schauglas vom Verdichter entfernen.
3 |Schauglas Ow4 14 Flanschring 7.Die mitgelieferte Dichtung (18) in die Mutter deslapters (17) einstecken.
Aluminium (OW4) / Stahl (OW!| A: Installation mit Schraubadapter: (siehe Fig.1-3) Gesamte Baugruppe an den Verdichteranschluss zerfisethorizontal
S Jschageson i Jrierer C-ng Fanschapie | Adapiertvpen: OMO-CCA, OMO-CBB. OMO-CCE + COVersionen G it 80 Nim fir OMO-CCD (Schiisseieiie 42 mml & N fir OMO-
6 Federr?nge' 3 Stk. (OW4) 17| Rotalock Agapter : 1.Vorb_ere|tung Verdichteranschiuss: Den S_topf_en odas Scha_luglas vom CCE (Schlusselweite 50 mm) ar(mziehen !
. . hinterer Dichtungsring Rotalock Gewinde des Behalters entfemen Stellen Sie sidase das Gewinde frei VOlinweis 1: Fir einwandfreie Funktion Reglereinheit exakt horizontal
7 |Schrauben (M6 x 45) 18 Adapter chhtmaterlal_lst und keine Beschédlgur}gen vorharsied. ) W.(Fig 3) 9
g \_/rersenkte $chraube: 1x G5 19 Ansghlusskabel o_\524v-3 gESrn d?: i/lp(;i[ggg ((jlezt)elic;szeeﬁtgndgr\}vG:(\j/\;g?;?ynps;td zﬁoﬁggir:ns:tecken. Hinweis 2: Rotalockadapter nach 1-2 Tagen Betriebud Dichtheit prifen.
ransportsicherung (entsorgen)20 | Relaisanschluss fir OM3-Nxx . . ] .
1C_|Vordere Adapter C-Ring NPTF Adaptgr mit konlsch_em Gewinde (_11). ) _ _ _ _
- Das Gewinde und die vordere Dichtfliche auf Kerbhemd Grate C: Installation mit Flanschadapter: (siehe Fig.1-3)
untersuchen. i ) o Adaptertypen: OMO-CUA, OMO-CCC + CO,-Versionen
Technische Daten: - Teflonband um das AuBBengewinde wickeln, auf diéitige Richtung per Flanschadapter kann fir einen Behalter verwtewseden, der die gleiche
owa oWs achten. ) ) Locheranordnung wie der Adapter hat. Dies gewétdetlie genaue horizontale
- Adapter in das Gewinde schrauben und bis zum Aagchbn Hand|nstallation von OW (Fig.3).
Max. Betriebsdruck F 60 ba 100 ba anziehen. ) ) . 1. Schritt 1 bis 6 wie obere Rotalock Installationgfe.
Priifdruck P’ 66 ba 110 ba - m‘tﬁt'"?mk SFﬁragbinsﬁmUSSH 80 Nm bei 3/4"-14NRnBchlissen 2. O-Ring (16) zwischen dem Adapter (15) und Verdicihtentieren. Die M6
) - ausgewahlte HFC/ HF - Nicht ruckwarts drehent icht im Li
Medienkompatibilitét Gergische & Ch Nur co, Achtung: Uber- oder unzureichendes Anziehen kann da Gewinde \S/Z?(;?Cﬁ:?hg:ls?;hgg I;ﬁ;?éﬁ?;éng enthalten) enpead den Angaben des
Versorgungsspannu 24VAC+10%, 50/60 H; beschadigen oder Leckagen verursachen.
Stromaifnahme 0.05A - Weiter mit Schritt 4 - 8. .
Kontaktbelstun 3A/230 VAC UNF/UNEF Gewindeadapter (12): Drucktest:
Alarmschalte SPD1 - OMO-CBB + CO.Versionen O-Ring (13) in Adapter (12) einlegeriNach der Installation ist ein Drucktest durchzuéihr
Zeitverzi)'gerungWarnung 10 Sek |10 Sek Achten Sie bei der Adaptermontage auf den richti@'ﬂn des O-Ringes_— geméB EN 378 flir Gerate, die die Européiische Dm\z'zkgrichtlinie 14/68/EU
Zeitverzégerung Alar 20 Sek [120 Sek Adapter erst handfest und dann mit 50Nm anziehesitanmit Schritt 4 - 8. erfiillen sollen. _
Medientemperati -20...+80°C - OMO-CCB + COy-Versionen O-Ring (13) ins Schauglasgewinde deglit dem maximalen Arbeitsdruck des Systems fiiradideren Anwendungen.
Lagerungs-, Transport-, 15...+50°C (Gehéiuse) Sammlers einlegen - alten O-Ring des Schauglasgsrgan - nicht Wieder—A Warnung:
Umgebungstereratu verw_enden. Adapter erst handfest und dann mit 5GNziehen. Weiter mif gai Nichtbeachten droht Kaltemittelverlust und Verletzungsgefahr.
Schutzklasse IP65 (IEC529EN60529) Schritt 4.' 8. . . » Die Druckprufung darf nur von geschulten und erfahrenen Personen
_ c € 4.Tran_sportS|cherung (9) auf dv_ar Rickseite des O\szm_ und entsorgen. durchgefiihrt werden.
Kennzeichnung W gem. EMVE& 5.0-Ring (10) an der Vorderseite des Adapters (11 dépeinlegen.
Niederspanungsrichtlinie 6. Die an der AuRenseite des Adapterringes (14) eiagete Markierung mit deDichtheitsprifung:
Markierung der Reglereinheit (1) in Ubereinstimmumipgen (Fig.2). Die Dichtheitspriifung ist mit geeignetem Geréat Methode gemaR EN 378-2 so
7.Reglereinheit (1) mit O-Ring (10) an den Adaptegr(i4) montieren. durchzufithren, dass Leckstellen sicher entdecktiever
Emerson Climate Technologies GmbH www.emersonclimate.eu

Am Borsigturm 31 |1 13507 Berlin | Germany Date: 26.07.2019 OW45_0OI_ML_RO05_865893.docx



4

é Bet_r.iebsanleitung
Elektronische Olstandiiberwachung

EMERSON. OW4 / OWS5 TraxOll
Verdrahtung: Betrieb: (Fig.4) Der aktuelle Betriebsstatus wird mit 3 LEDs wiggtadngezeigt:
« Hinweis: Verdichter nicht direkt schalten, Verdichterschiitz anschlieBen.OWA4/5 werden nur vom Olstand gesteuert. Das Schaliglin 3 Zonen geteilt Betriebszustand / Statu | Funktion | Position Kontakt |LED
Fig.4 zeigt, wie OW an die Sicherheitskette (SL) eér Verbundregelung Bei Absinken des Olstands in die gelbe Zone (Yelleuchtet die gelbe LED mitStromlos oder normaler| | BK-BU geschlossen . .=~ @
; . : = : L : Qlstand (60 - 40%) BK-BN offen run
angeschlossen wird. einer Zeitverzdgerung von 10 Sek auf. Sinkt detadtbin den roten Bereich (redx ® ©)
+ OM3-Nxx (20) gemaR Fig.3,4 am Relais anschlieBen: I6st das Alarmrelais aus, Zeitverzogerup@:Sek(OW4) oder120 Sek (OWS5). |Olstand etwa 40% OK Griin Gelb
BU = blau BK = schwarz BN = braun Olstand < 40% Warnung Gelt @)
*OW-24V-3 (19) Kabelenden an die Versorgungsspan24MAC anschliel3en M _— BK-BU offen
- Drehmoment fiir Steckerschrauben: 0,15 Nm (handfest) Olstand zu niedrig <25% Alarm | gy BN geschlosser{ ROt ® g

Ubersicht OW4.../OW5...: (siehe Fig.1)

Reglereinheit OWA4...(60 bar) OWS5... (100 bar) OWA4... (60 bar) OWS5... (100 bar) OWA4... (60 bar) OWS5... (100 bar)
u . ausgewahlte HFC/ ausgewahlte HFC/ ausgewahlte HFC/
Kaltemittel HFO Gemische & CO O, HFO Gemische & CO €O, HFO Gemische & CO €O,
Q Schauglas Hochdruck Hochdruck Hochdruck
3 O-Ring (mm) 33,3x2,4W(@2) 33,3x2,4V(4) 33,3x2,4M2) 33,3x2,4V(4) 33,3x2,4M2) 33,3x2,4V(4)
%r Schauglas 3) (5) 3) (5) 3) (5)
© Federringe (6) 3 Stiick - 3 Stlck - 3 Stiick -
Befestigungs- 3 Schrauben 2 Schrauben 3 Schrauben 2 Schrauben 3 Schrauben 2 Schrauben
schrauben (7) M6x45 M6x45 M6x4E M6x45 M6x45 M6x45
Befestigungs- } 1 versenkte } 1 versenkte } 1 versenkte
schraube (8 Schraub M6x45 Schraub M6x45 Schraub M6x45
Typ Anschluss Gewinde NPTF Gewinde UNF/UNEF
OMO-CCA ‘ OMO-CCA CO2 OMO0-CBB OMO-CBB CO2 OMO0-CCB ‘ OMO-CCB CO2
pr— 7 R
N\ ~ ~<
Adaptertyp ( ' 36
==y = R
- L— 30—» L— 34—»| a
S
3 Anschluss 3/4*-14 NPTF 3/4“-14 NPTF 1-1/8"-18 UNEF 1-1/8“-12 UNF
<
Best.-Nr. 805039 805339 805038 805338 805040 | 805340
Hauptteil Aluminium Schraubadaptét 1) Aluminium Schraubadapt¢t?2) Aluminium Schraubadaptét2)
Zweiter Teil Aluminium Flansch(14) Stahl Flanscl14) Aluminium Flansch14) Stahl Flanscl14) Aluminium Flansch14) Stahl Flanscl14)
Do Hochdruck O-Ring Hochdruck O-Ring Hochdruck O-Ring
O-Ring (mm) (10) 25,07x2,62W 25.07%x262V 25,07x2,62W 25.07%x262V 25,07x2,62W 25.07%x262V
Dichtungsteile . ) O-Ring Hochdruck O-Ring O-Ring Hochdruck O-Ring
zum Behalter (mm)] Konisches Gewinde (Teflonband) 28,3x1,78W(13) 33,3x2,4V(13) 28,3x1,78W(13) 33,3x2,4V(13)

Hinweis: Die Nummern in Klammern entsprechen denen in Fig.1.

Emerson Climate Technologies GmbH www.emersonclimate.eu
Am Borsigturm 31 |1 13507 Berlin | Germany Date: 26.07.2019

OW45_0Ol_ML_RO05_865893.docx



4

&

Betriebsanleitung

Elektronische Olstandiiberwachung

EMERSON. Ow4 /| OW5 TraxOill
Ubersicht OW4.../OW5...: (siehe Fig.1)
Reglereinheit OWA4...(60 bar) | OWS... (100 bar) OWS... (100 bar) OWA4... (60 bar) | OWS5... (100 bar)|] OWA4...(60 bar) | OWS5... (100 bar)| OWA4...(60 bar) | OWS5... (100 bar)
ausgewahlte HFC ausgewahlte HFC ausgewahlte HFC ausgewahlte HFC
Kaltemittel HFO Gemische CcO, [ef0X HFO Gemische CcO, HFO Gemische CcO, HFO Gemische COo,
o & CO, & CO, & CO, & CO,
= Schauglas Hochdruck Hochdruck Hochdruck Hochdruck Hochdruck
o O-Ring (mm) 33,3x2,4W(2) 33,3x2,4V(4) 33,3x2,4V(4) 33,3x2,4W(@2) 33,3x2,4V(4) 33,3x2,4W2) 33,3x2,4\ (4) 33,3x2,4W(2) 33,3x2,4V(4)
3 Schauglas 3 ®) ®) ® ®) (©) ®) ©) ®)
[®)
Federringe (6) 3 Stuck - - 3 Stuck - 3 Stiick - 3 Stick -
Befestigungs- 3 Schrauben 2 Schrauben 2 Schrauben 3 Schrauben 2 Schrauben 3 Schrauben 2 Schrauben 3 Schrauben 2 Schrauben
schrauben (7 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45
Befestigungs- : 1 versenkte 1 versenkte ) 1 versenkte ) 1 versenkte ) 1 versenkte
schraube (8 Schraube M6x4 Schraube M6x4 Schraube M6x4 Schraube M6x4 Schraule M6x4¢
Typ Anschluss Flansch Rotalock
OMO-CUA*  |OMO-CUA CO2* OMO0-CUD CO2* OMO-CCC* |OMO-CCC CO2* OMO-CCD OMO-CCD CO2 OMO-CCE OMO-CCE CO2
4
4 -
! TM‘
w [ 4
2 = I
Adaptertyp 60 o é Sl‘ 36 Eq 25
g3 | 8% 1]
' !
«— 36— 40—
8
o
§ Anschluss 3-/4-Loch 3-/4- Loch 6-/6 Loch 3 Loch 3 Loch 3M4"-12 UNF 1-1/4-12 UNF
Best.-Nr. 805037 805337 805049 805041 805341 805042 805342 50480 805343
Hauptteil Aluminium Flansch15) Aluminium FlanscH15) Aluminium FlanscH15) Aluminium Schraube und Flans¢t7) | Aluminium Schraube und Flans¢ti7)
Zweiter Teil - - - - - - - - -
. Hochdruck Hochdruck Hochdruck Hochdruck Hochdruck
O-Ring (mm) (10) | 25,07x2.62W | 55 1752 62V 25,07%2,62V 2507262W | o5 o7xae2v | 220T2E2W 1 o570 oy | 220TX2E2W 1 o5 7x2,62v
Dichtungsteile O-Ring Hochdruck O-Ring Hochdruck O-Ring O-Ring Hochdruck O-Ring ) B ) )
zum Behélter (mm) | 33,3x2,4W(16) | 33,3x2,4V(16) 33,3x2,4V(16) 33,3x2,4W(16) | 33,3x2,4V(16) Dichtung PTFE 1-3/4(18) Dichtung PTFE 1-1/4(18)

Hinweis: Die Nummern in Klammern entsprechen denen in Fig.1.

Emerson Climate Technologies GmbH
Am Borsigturm 31 |1 13507 Berlin | Germany

www.emersonclimate.eu

Date: 26.07.2019

*) M6 Schrauben zur Befestigungdsiicht im Lieferumfang enthalten.

OW45_0Ol_ML_RO05_865893.docx



4

A, Instructions de service

s Surveillance de niveau d’huile
EMERSON. OwW4 / OWS5 TraxOil
Informations générales:
Tous les modeéles utilisent un capteur a effet ptalir mesurer le niveau d’huile.
Un flotteur magnétique change de position aveciteau d’huile. Le capteur

Hall transforme le champ magnétique en un sigreadtéfjue équivalent qui est

utilisé par le circuit électronique pour indiquer diveau actuel au moyen de dommages corporels.
LED. Destiné aux systémes de réfrigération confsréni norme EN 378. * Selon la norme EN 13313, il est destiné a étre s par des personnes: |nstallation avec un adaptateur Rotalock: (Fig.%3)

Notes: ayant les connaissances et les compétences appréps. Types d'adaptateur: OM0O-CCD. OMO-CCE_+ Versions deCO,

OW4 est développé pour les réfrigérants HFC, le COsubcritique, et les © Eoggr:fascfggulgs tégﬁ ;?/gtzaﬁlfrrfisdeegtltﬁ:udili ?;ﬁrir:eéz V&pﬁg;s_rgscéi? gél.Retirer le carton (9) a l'arriére de 'OW qui magrinent des vis et sécurisent le
mélanges HFO spécifiés. P ’ P voyant pendant le transport.

Recommandations de sécurité:

» Lire attentivement les instructions de service. Lenon-respect des
instructions peut entrainer des dommages a I'appaik au systéme, ou des

8. Serrer les 3 vis (7 & 8) a la main, puis progressient et régulierement par
1 tours jusgu’a atteindre le couple de 12 Nm. Qatbeédure est impérative
pour atteindre une étanchéité compléte.

WS et s spécilemnt acopés s oxgncessaystomes o CSIS e SOe A des e, 2 postiomer oo e (10)ans edepidob avnt.
transcritiques et doivent étre utilisés avec les aptateurs dédiés aux oo BT ol oo e)lltmos hérique q P 3.Aligner le marquage de l'adaptateur (15/17) avendequage du corps (Fig.2).
compresseurs CQ. - p pherique. ) ) 4.Monter le module de base (1) y compris le joinique (10) & I'adaptateur
p
* Ne pas dépasser les plages de pression, de tempémat de tension et (15/17).
Composants du systéme: (voir table ci-dessous etgil,3) dintensités maximales indiquées. 5.Serrer les 3 vis (7 & 8) & la main, puis progressient et réguliérement par %
) — " — * Avant installation et maintenance, déconnecter toafs les alimentations ;o c jusqu'a atteindre le couple de 12 Nm. Catedxlure est impérative pour

N°® | Description N°® | Description électriques du systéme et des équipements. atteindre une étanchéité compléte :

1 |Corps principal 11/12 Adaptateur fileté Note: Le flotteur contient un peu de plomb, I'appaeil devra étre recyclé en 6.Retirer le voyant du réservoir :

2 |Joint torique de voyant OV 13 |Joint torique adaptateur file conséquence en fin de vie. 7:Installer le joint PTFE fourni. (18) dans I'écrou tadaptateur (17). Mettre

3 |Voyant OW4 14 zlc?:??gv\g;]m'mum (©wa)/ A: Installation modéles avec adaptateur & visser:Kig.1-3) I’en?emb'le sur lIano:r;nexion . dlu réservoir :n le mlain(r;t 9rg)o’r\ilzontal

4 | Joint torigue de voyant OW5 15| Flasque Types d'adaptateur: OMO-CCA, OM0-CBB, OMO0-CCB + Versions de CQ Cooﬁ(ﬁ@(;egzgti@ Ze I(?I;é fegge;qiqf;]aelg ﬁ?p%u?mocl\(/l)é?ee(taﬁle denglgo_“r

5 |Voyan OW5 16 |Joint torigue adaptateur flag 1.Préparation: Retirer bouchon ou voyant coté résembs’assurer que le 42 mm) B p -

6 Rondelles €lastiques: 3 pes 17 | Adaptateur Rotalock filetage est exem;?t de tra(_:es de joint et n esepa_bmmage. Note 1: L'appareil doit étre en position horizontak pour fonctionner

(Ow4) 2.Mettre la bague d’adaptation (14) sans serreresfiletage. correctement (Fig.3)
7 | Vis (M6 x 45) 18 | Joint torique adaptateur Rotklqc 3.Monter I'adaptateur du OW (11 ou 12) comme suitogretion du type: Note 2: Le serrag.e 'et étanchéité de I'adaptateur talock sera A nouveau
8 |Vis atéte plate 1pces (OW5) 1g Connecteur d'alimentation Adaptateur filetage NPTE (11): vérifié aprés 1 a g'ours de fonctionnementp
OW-24V-3 i i - Vérifier le bon état du filetage et de la surfag@ahchéité. P ! '
9 |Plague de maintien (trransporf) 2 ('\:lg)r:necteur de sorties relais ONI3- - \E/_ntour(le’r ge ftUkt)an tétflon le fi[e}age male danefes<orrect. C: Installation modelés avec adaptateur & bride: (Fg.1-3)
; : ; - Visserladaptateur et serrer a fa main. Types d'adaptateur: OMO-CUA, OMO-CCC + Versions deCO:
10_|Joint torique d'adaptate - Serrer avec une clé au couple de 80 Nm pour urreexton 3/4’-14 NPTF. L’\(J[t)ilisation c?e 'adaptateur avéc flasques estlapple aux részervoirs ayant le

R ierel A oo - e "
Ne pas tourner en arriere! méme arrangement des trous de fixation. Ceci aigatantir 'horizontalité de

Informations techniques: h . )
Avertissement: Un sur ou sous serrage peut endommemgle filetage ou pinstaliation d'OW (Fig.3)

ow4 ows crééer_des fuite_st. los &t 4.8 1.Suivre les étapes 1 - 6 comme pour le Rotaloclesss.

Pression max. de fonctionnement 50 ba 100 ba Adag;;igfrnfﬁ:lt:q:i?\l;%;EF (1) 2.Monter le joint torique (16) entre I'adaptateur 5 le réservoir. Utiliser des
i > ’ . vis M6 (non fournies) et serrer en respectant l@ssignes du fabricant du
Pression de test PT 66 bar _ 110 bar - OMO-CBB + Versions de CQ: monter I'O-ring (13) sur l'adaptateur (12). réservoiE ) P o
Compatibilité des médiums H,FIC/ HFO,leegges CO, seulement Faire attention au bon positionnement de I'O-ringneontant I'adaptateur. ’
: , : selectionnes & C, Serrer & la main puis appliquer un couple de 50 Stiivre ensuite les étapeBest de pression:
Tension d'alimentatic 24VAC+10%, 50/60 H: 4-8 . . o .
Intensite 0.05A . . i o . Apres le montage, un test de pression doit éttefarespectant:
: - OMO-CCB + Versions de CQ: Positionner I'O-ring (13) Dans la partie| 5 norme EN 378 pour les systémes qui doivent réyeoa la Directive Pression
Plage contact d’alarme 3A/230 VAC 5 4 , 5 ; e
femelle du réservoir - Ne pas réutiliser 'ancieinj. Serrer a la main puis gyropéenne pour les éguipements 14/68/EU
Contact d'alarn SPD1 i le de 50 Nm. Sui ite lanait 4 - 8 peenne pout quipeme : o
Temporisation d'aler 10 Sec [10 Sc appliquer un couple de 50 Nm. Suivre ensuite lapext 4 - 8. _ - Lapression maximum de fonctionnement pour lessaupplications.
— - - - 4 .Retirer le carton (9) a l'arriére de 'OW qui maémtnent des vis et secunseA .
Temporisation de lalarn 20 Stc. [120 Scc. Attention:
T ~ a0 fluid 20 +80°C le voyant pendant le transport. . . ~ .
Tempe;ra:ur u Ubl € ok : -20... 5.Positionner le joint torique (10) dans I'adaptatélir ou 12). (coté avant). * Ne pas le faire pourrait entrainer la perte du réfigérant et des blessures.
emperature ambiante stockage €t | 15 450°C (emballage) 6.Aligner le marquage de ring adaptateur (14) avemaequage du corps () Le test de pression doit tre effectué par des pemsnes qualifiées respectant
transpor i les régles de sécurité, a cause du danger lié plassion.
- - (Fig.2).

Classe de protecti IP65 (IEC529EN6052 . L N

c € 7. Monter le module de base (1) y compris le joiritioe (10) et ring I'adaptateusr o ot qétanchéité:

irecti 14). ) . .

Marquage pour EMC & directive brasse ( ] ) i ) R B | A 4 AitA ) 4

pression Not_e. Pour un bon _fonctlonnement, I'appareil d_0|t étre paitionne Eé?ﬁggg:n fgnrtige gl?rt?ggsgflit:r ls:slc;ﬂitlings‘/izrl;gsequ'pement et une

horizontalement en faisant tourner la bague d’adamtion (14) (Fig.3). pprop P $oe :
Emerson Climate Technologies GmbH www.emersonclimate.eu

Am Borsigturm 31 |1 13507 Berlin | Germany Date: 26.07.2019 OW45_0OI_ML_RO05_865893.docx



4

Instructions de service

g . R .
‘§' Surveillance de niveau d’huile
EMERSON. Oow4 / OW5 TraxOil
Cablage: Fonctionnement: (Fig.4) Les états de fonctionnement sont indiqués par 3:LED
* Note: Ne pas connecter le compresseur directemefdtiliser desrelais de L'OW4/5 assure le contrdle de tous les niveauxvagant est divisé en 3 zor | Condition de Fonction Position du LED
puissance. Voir Fig.4 pour la connexion de 'OWa la chaine de sécurit de surveillance. Lorsque le niveau atteint la Zanee (Yellow, 'OW active la | fonctionnement / Statut contact
(SL) du régulateur de centrale. diode LED jaune aprés une temporisation de 10 stsorune baisse de nive | L'alimentation est coupée ou BK-BU fermé
» Connecter le cable OM3-Nxx (20) au relais suivagtF4 jusqu'a la zone rouge (Red) fera basculer le retfidarme aprés ur |niveau d'huile est normal OK BK-BN ouvert| Vert ®
BU=bleu BK =noir BN = marron temporisation d@0 seqOW4) ou120 se¢OWS5). (60 - 40%) _
« Connecter le cable OW-24V-3 (19) vers 'alimentatéectrique 24VAC. Niveau d’huile oK vert @  JauneQ
5 i inti a peu pres 409
* Le couple recommandé pour la vis de maintien desexteurs est 0.18m (apeup
(serrage manue|)_ Niveau d’huile < 40% Attention Jauneo
Niveau d’huile trop bas Alarme BK-BU ouvert Rouge. Jauneo

Panorama des OW4.../OW5...: (see Fig.1)

< 25%

BK-BN fermé¢

Corps principal OWa4... (60 bar) OWS5...(100 bar) OWA4... (60 bar) OWS5...(100 bar) OWA4... (60 bar) OWS5...(100 bar)
e HFC/ HFO mélanges HFC/ HFO mélanges HFC/ HFO mélanges
© Réfrigérantes sélectionnés & CO CC: sélectionnés & CO €O sélectionnés & CO CC:
= Joint torique de Haute pression Haute pression Haute pression
Q voyant (mm) 33.3x2.4W(@2) 33.3x2.4V(4) 33.3x2.4M(2) 33.3x2.4V(4) 33.3x2.4M2) 33.3x2.4V(4)
=
% Voyant ©) ®) @) ®) ®) ®)
Rondelles élastiqueq
©) 3 pces - 3 pces - 3 pces -
vis (7) 3 vis M6x45 2 vis M6x45 3 vis M6x45 2 vis M6x45 BW6x45 2 vis M6x45
vis (8) - 1 vis a téte plate M6x45 - 1 vis a téte plate MBx - 1 vis a téte plate M6x45
Type de . .
connexior Filetage NPTF Filetage UNF/UNEF
OMO-CCA | OMO-CCA CO2 OMO0-CBB ‘ OMO0-CBB CO2 OMO0-CCB | OMO0-CCB CO2
N R amaa
Type 36
d'adaptateur
s\ B iy
3 L, 30—+ Lf 34— e
©
g Taille connexion 3/4“-14 NPTF 3/4“-14 NPTF 1-1/8"-18 UNEF 1-1/8“-12 UNF
=]
< Part Nb 805039 805339 805038 | 805338 805040 | 805340
Piéce principale Adaptateur vissé aluminiuifdl) Adaptateur vissé aluminiu(d2) Adaptateur vissé aluminiu(d2)
Piéce secondaire Flasque aluminiung14) Flasque acief14) Flasque aluminiun(l4) Flasque acief14) Flasque aluminiunil4) Flasque acief14)
Joint torique (mm) Joint torique haute pression Joint torique haute pression Joint torique haute pression
(10) 25.07x2.62W 25.07x2.62V 25.07x2.62W 25.07x2.62V 25.07x2.62W 25.07x2.62V
étanchéité Filetage conique (ruban téflon) Joint torique Joint torique haute pression Joint torique Joint torique haute pression
au réservoir (mm) 9 a 28.3x1.78WM13) 33.3x2.4V(13) 28.3x1.78WM13) 33.3x2.4V(13)

Note: Le chiffre entre parenthéses correspond a la Eigdgende.

Emerson Climate Technologies GmbH
Am Borsigturm 31 |1 13507 Berlin | Germany

www.emersonclimate.eu

Date: 26.07.2019

OW45_0Ol_ML_RO05_865893.docx



4

&

EMERSON.

Instructions de service
Surveillance de niveau d’huile

ow4

[/ OWS5 TraxOil

Panorama des OW4.../OW5...: (see Fig.1)

Corps principal

OW4... (60 bar)

OWS5...(100 bar)

OWS....(100 bar)

OW4...(60 bar) | OWS...(100 bar)

OWA4... (60 bar)

OWS5...(100 bar)

OWA4... (60 bar)

OWS5...(100 bar)

Réfrigérantes

HFC/ HFO mélange

CO,

COo

HFC/ HFO mélange

sélectionnés & C9| CC

HFC/ HFO mélange
sélectionnés & C9O|

CO,

sélectionnés & C,

HFC/ HFO
mélanges

Co

sélectionnés & C9|
= Joint torique de Haute pression Haute pression Haute pression Haute pression Haute pression
3 voyant (mm) 33.3x2.4WQ) 33.3x2.4V(4) 33.3x2.4V(4) 33.3x2.4W(2) 33.3x2.4V(4) 33.3x2.4W(2) 33.3x2.4V(4) 33.3x2AWR) | 33350 av(a)
§ Voyant (3) (5) (5) (3) (5) (3) (5) (3) (5)
O A i d
ces - - ces - ces - ces -
Rondelle(z)elasthu& 3p 3p 3p 3p
vis (7) 3vis 2 vis 2 vis 3 vis 2 vis 3 vis 2 vis 3vis 2 vis
M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45
) 1 vis a téte plate o xaA 1 vis a téte plate 1 vis a téte plate 1 vis a téte plate
vis (8) - M6x45 p 1 vis a téte plate M6x45 - M6x45 p - M6x45 p - M6x45 P
cgngsn Flasque Rotalock
OMO-CUA* | OMO-CUA CO2* OMO-CUD CO2* omo-ccer |omo-cce coz+ | omo-ccp | omocepcoz | omo-cce | omo-cce coz
4 . :
4 —
: T 1 *
z 2 I
Type £ 36 Ew~
d'adaptateur %0 g £ 3 l EX T
Qe o
' !
5 -« 36—»‘ < 40 >
Q
% Taille connexion 3-/4-holes 3-/ 4-holes 6-/6 trous 3 trous 3drou 1-3/4"-12 UNF 1-1/4"-12 UNF
@
2 Part Nb 805037 805337 805049 805041 805341 805042 | 805342 50430 | 805343
Ecrou et flasque aluminiufd7) Ecrou et flasque aluminiufd7)

Piéce principale

Flasque aluminiun(l5)

Flasque aluminiunl5)

Flasque aluminiun(l5)

Piéce secondaire

Joint torique

Joint torique

Joint torique

. " Joint torique . . .
Joint tOEﬂ;J)e (mm) 25.07x2.62W haute pression Joint tozréqgsxgag;%pressmn 25.07x2.62W haute pression 25.07x2.62W haute pression 25.07x2.62W haute pression
25.07x2.62V ’ ) 25.07x2.62V 25.07x2.62V 25.07x2.62V
stanchéité Joint torique Joint torique hautd Joint torique haute pression Joint torique hJa(ﬂ?; tofgg:i%n joint d'étanchéité joint d'étanchéité
au réservoir (mm) 33.3x2.4W pression 33.3x2.4 33.3x2.4V 33.3x2.4W 33 352 py; PTFE 1-3/4" PTFE 1-1/4"
(16) (16) (16) (16) (6) (18) (18)

Note: Le chiffre entre parenthéses correspond a la Eigdgende.

Emerson Climate Technologies GmbH
Am Borsigturm 31 |1 13507 Berlin | Germany

*) Vis de montage M@ faurnies.

www.emersonclimate.eu

Date: 26.07.2019

OW45_0Ol_ML_RO05_865893.docx



4

ol

EMERSON

Instrucciones de funcionamiento
Sistema de supervision del nivel de aceite
OwW4 / OWS5 TraxOil

S,

Informacion general:

Todas las versiones utilizan para medir el niveldeite un sensor capaz de
detectar la variacion de un campo magnético. Eddoitsensor actia en
combinacion con un pequefio flotador (provisto eimtrior de imanes) que es
el verdadero responsable de segwr de forma prgatsacta el valor real del
nivel del aceite. Cualquier variacion en el campagnético generado por el
flotador, sera detectado por el sensor, lo queigiggmue la electrénica integrada
muestre el estado del nivel de aceite actual coDsLEPara aplicaciones en

sistemas de refrigeracion segun la EN 378.

Notas: OWA4... ha sido desarrollado para refrigerantesHFC, CO, subcritico

y mezclas especificas de HFO.
estd preparados para su uso en sistemas con L£®anscritico
(requieren de adaptadores especificos).

OWS...

Componentes del Sistema(ver tabla siguiente y Fig.1,3)

8.Apriete con la mano los tres tornillos (7 & 8). Antinuacion, de forma gradual
y homogénea, apliqgue media vuelta a cada uno o ledista alcanzar el par de

A Instrucciones de seguridad:
12 Nm. Seguir correctamente este procedimientdbgatorio para conseguir

Lea atentamente estas instrucciones de funcionamien Una mala )

manipulacién puede acarrear lesiones al personal glesperfectos en el Una completa estanqueidad.

gparatolo egl\llal'ggtlaelac'on g | g g | . Instalaciéon con adaptadores Rotalock: (ver Fig.13)
egun ‘a este producto solo puede ser ado por e T|Dos de adaptadores: OMO-CCD, OMO-CCE + Versionede CO,

J Eiri%n;{sfgr;\ng?ltjzr:tfrxeﬁ;o::Iéz?:mer?;%glIe?vite la reBpcion de vapores 1.Elimine los soportes de cartn (9) que se encuertida parte trasera del OW
A P y y que fijan los tornillos y el visor.

el contacto con la piel del refrigerante o el acedtde refrigeracion. En Cas%.Localice la junta térica (10) en el adaptador.r(fed).

de no hacerlc_), tenga en cuenta,que puede sufrir gras Iesmnt_as cc_)rporale .Localice la ranura estampada en el anillo adaptéid®i7) de acuerdo con la
« Antes de abrir el circuito, asegurese de que la ps&n en su interior no es . .
! o o base (1) pintado en (Fig.2).
superior a la presién atmosférica! . .
‘o i . _4.Monte la base (1) incluyendo la junta (10) al addpt (15/17).
* No sobrepase los valores maximos de temperatura, gsion, voltaje e . . . L
. . i - 5.Apriete con la mano los tres tornillos (7 & 8). Antinuacion, de forma gradual
intensidad especificados por el fabricante. . . .
y homogénea, aplique media vuelta a cada uno de ledista alcanzar el par de

* Antes de llevar a cabo la instalaciéon o el manteniento del sistema, ] L . - .
. . P 12 Nm. Seguir correctamente este procedimientdkgatorio para conseguir
desconecte la alimentacion eléctrica.

N Deécr'pC'on N - Descripcion _ Aviso: El flotador del sensor de nivel del OW conéne plomo, lo que obliga % Lér;?r;m:zlﬁ}iasgrs;?gzz:geagél reciiente
; SJnntiacti,b‘as del visi OWA4 11/31‘ ?datpt?gq cznlco;extlogéi;ors su reciclado en caso de sustitucion! 7 Montegla junta suministrada PTFIE (18) 'en la tueteaadaptador (17). Ponga
unta tdrica del visi unta tdrica del adaptaddetras . .
3 |visor owa 14 |Brida anillo de A: Instalacién con adaptadores roscados: (ver Fig..B) todo el conjunto de conexion del recipiente y n@nsujete horizontalmente
— A Aluminio (OW4) / acero (OW! | Tipos de adaptadores: OMO-CCA, OM0-CBB, OMO-CCB + \érsiones de  Para cumplir con las Fig.3 apriete con la manoligag un apriete de 90 Nm
4 |Junta térica del viss OWE 15 |Adaptador de bric co para OMO-CCD (ancho de llave 50 mm) y 65 Nm paraOdBCE (ancho de
5 |Visor OWE 16 |Adaptador de bric circul. traser z i4 i 4 i i llave 42 mm).
= p : 1.Preparacion: Retire el tapén o de la mirilla derdaca en el recipiente y

6 Araqdela elastica: 3 pcz (OW 17 |Adaptador de Ros asegurese de que el hilo esté libre de material qué no haya indicacién deNota 1: La unidad se debe instalar en posicion haontal (Fig.3).

7 |Tornillo (M6 x 45, 18 |Junta Rotalock parte trasera ac dafios. Note 2: Compruebe siempre el apriete de los adaptarks rotalock tras 1-2

8 Ig\%g}o (debajo bobing)lpcz | g 8@3'294‘1;3;"mema°'0” 2.Poner un anillo adaptador (14) suelto en la comesdéca del recipiente dias de operacion.

onnecteur de sories Telais OMa>: Montar un adaptador (11 0 12) con la considerasigaiente: C: Instalacién con adaptadores de brida: (ver Fig.13)
9 |Soporte de tornillo (descarte) Zfﬁxx Adaptador cénico de rosca NPTF (11): Tipos de adaptadores: OMO-CUA, OMO-CCC + Versionegse CO,
— - Inspeccionar la parte de la rosca, quedando libmebiabas. - - S — .

1C_|Junta térica del adaptador (fret - Poner cinta de teflon alrededor de la rosca magHa direccion correcta. gilsui‘;iggnagszta&zrrg:c%rﬁg ;Sazghct::gl; aEZ]p'ﬁgﬁg:&;?gg%;g‘:gla

Datos Técnicos: - Roscar el adaptador y apretarlo hasta el topescoraho. de %W (Fig.3) u p - Esgu
ow4 Ow5 ' ﬁgreitgrcﬁgc:: g?r\;l(eslcon 80 Nm para conexiones-3ANPTF. 1.Siga los pasos 1 a 6 como la instalacién Rotalotkrimrmente.
Maxima presion de trabajo PS 60 bar 100 bar 9 2.Monte la junta térica (16) entre el adaptador (§5Jlel recipiente. Utilice
— Aviso: Mayor apriete o apriete insuficiente puede dfiar la rosca o causar ) ; . ;

Presion de prueba PT 66 bar 110 bar tornillos M6 (no es parte de la entrega y aprietaclierdo con las instrucciones

fuga.

Compatibilidad del medio

HFC/ mezclas HF(
seleccionadas &

solo CQ

- Siga los pasos inferiores de 4 - 8. del fabricante buque.

UNF/UNEF Adaptadores de rosca (12): Prueba de presion:

- OMO-CBB + Versiones de CQ montar la junta (13) al adaptador (12)na vez finalizada la instalacion, debera llevarsabo una prueba de presion:
Prestar atencion a colocar correctamente la jdmteat cuando se monta elen conformidad con la norma EN 378 para aquelkiersias que deban cumplir

adaptador. Apriete con la mano y aplicar 50 Nmate §igue a continuacion |a Directiva 14/68/EU relativa a los equipos desjine.

elpaso4-8. - a la maxima presioén de trabajo del sistema erseb de aplicaciones.

OMO-CCB + Versiones de CQ@ localizar la junta (13) en el interior d«A AViSO:

puerto hembra del recipiente — No vuelva a uspmi térica vieja. Apriete
con la mano y aplicar 50 Nm de par. Sigue a coatitn el paso 4 - 8. * Si no realiza esta prueba, pueden producirse pérdid de refrigerante y

Elimine los soportes de cartdn (9) que se encueetida parte trasera del OW/€Siones personales. )
y que fijan los tornillos y el visor. * La prueba de presion debe ser llevada a cabo por i@@nal capacitado y

»

CGC,
Tension de alimentacion 24VAC+10%, 50/60 Hz
Alimentacion 0.05A
Méxima intensidad 3A/230 VAC
Tipo de contacto alarma SPDT
Retardo tiempo (aviso) 10 sec. 10 sec.
Retardo alarma 20 sec. 120 sec
Temperatura del medio -20...+80°C
Temp Transporte, Almacen y Ambier |-15...450°C (carcas)

Localice la junta térica (10) en el adaptador (12)o(frontal) consciente de los peligros que implica este tipo dperaciones.

Proteccion clase

IP65 (IEC529EN60529)

Localice la ranura en anillo adapt.(14) de acueato(1) pintado (Fig.2).

Marcado

directivas de Compatibilidad

electromagnética y bajo volta,

Test de fuga:
Realice un test de estanqueidad segin determild 878-2 con el apropiado

No o

.Monte la unidad base (1) incluida en la junta @Q®daptador (14).
Nota: Para la funcién apropiada de la unidad debe ser itslada

equipo para identificar fugas en las diferentesnes.

Emerson Climate Technologies GmbH

horizontalmente girando el anillo adaptador (14) (kg.3).

www.emersonclimate.eu

Am Borsigturm 31 |1 13507 Berlin | Germany

Date: 26.07.2019 OW45_0OI_ML_RO05_865893.docx



4

&

EMERSON.

Instrucciones de funcionamiento
Sistema de supervision del nivel de aceite
Ow4 / OW5 TraxOill

S,

Conexionado del relé OM3-Nxx:
* Nota: Conectores no necesitan de juats adicionales.

correspondiente relé de potencia o contactor. Vemda Fig.4la forma de
conectar el OW a la cadena de seguridad (SL) de uneentral de

compresores.

« Conecte el cable OM3-Nxx cable (20) al relé segidetalla en las Fig.3,4:

BU = azul BK = negro

BN = marrén

» Conecte el cable OW-24V-3 cable (19) a la alimeata24VAC.
 El par de apriete recomendado para los tornillogicieos conectores es de
0.15 Nm (apriete a mano).

General OW4.../OW5...: (ver Fig.1)

Funcionamiento: (Fig.4)

El OW4/5 es un sistema que utdizomo principal variable de control el nivel
aceite en el carter del compresor. Funcionalmehtésor de aceite se divide
tres zonas. Cuando el nivel alcanza la zona am#@¥kllow) el OW sefializa
través de un LED esta incidencia tras lavaciibn de un retardo de 10 sec. |
caida adicional del nivel de aceite a la zona ({l®fd) activara el relé de alar
tras un retardo de &9 seqOW4) o del20 seOWS5).

Utilice €

El estado actual del sistema se indica con 3 LEEDérsla siguiente tabla:

Condiciones de trabajo / ” Posicion del
Funcién LED
Estado contacto
Fuente de alimentacion
apagada o nivel normal del  OK g?g“ SE?:?OO Verde.
liquido (6C - 40%,
Nl\ge] de aceite (aprox. oK Verde. Amarilloo
40%
Nivel de aceite < 40% Aviso Amarilloo
Nivel de aceite demasiadp BK-BU cerrado . .
bajo < 259 Alarma gy BN abiert |ROI2 ® Amarile©

OWS...(100 bar)

OWA4... (60 bar)

OWS...(100 bar)

Unidad base OW4..(60 bar) OWS5...(100 bar) OWA4... (60 bar)
. HFC/ mezclas HFO seleccionadas HFC/ mezclas HFO seleccional HFC/ mezclas HFO seleccionada:
- Refrigerante & CO, CcO, & CO, CcO, co, CcO,
z |3 - - - — »
) unta térica del visor Alta presion Alta presion Alta presion
2 (mm) 33.3x2.4W(2) 33.3x2.4V(4) 33.3x2.4W(2) 33.3x2.4V(4) 33.3x2.4W(2) 33.3x2.4V(4)
% Visor (3) (5) (3) (5) (3) (5)
Arandela elastica (6) 3 pcz - 3 pcz - 3 pcz -
Tornillo (7) 3 tornillo M6x45 2 tornillo M6x45 3 tornillo M6x45 2 tornillo M6x45 3 tornillo M6x45 2 tornillo M6x45
Tornillo (8) - 1 tornillo avellanado M6x45 - 1 tornillo avella@M6x45 - 1 tornillo avellanado M6x45
Tipo de conexién Rosca NPTF Rosca UNF/UNEF
OMO-CCA | OMO-CCA CO2 OMO0-CBB ’ OMO0-CBB CO2 OMO0-CCB OMO-CCB CO2
R 7 N
N SR
Tipo de adaptador ( ) 36
S §5 o= RS M ™
] —
s L— 30— L— 34—»] =
8
s Tamarfio 3/4“-14 NPTF 3/4“-14 NPTF 1-1/8"-18 UNEF 1-1/8*-12 UNF
©
< Ndamero Identif. 805039 805339 805038 | 805338 805040 | 805340
Parte principal Adaptador con conexién a rosgaf) Adaptador con conexién a ros¢a) Adaptador con conexién a ros¢ap)
Parte secundaria Brida Aluminio (14) Brida Acero(14) Brida Aluminio (14) Brida Acero(14) Brida Aluminio (14) Brida Acero(14)
Junta térica del Alta presion Alta presion Alta presion
adaptador(mm) (10) 25.07x2.62W 25.07x2.62V 25.07x2.62W 25.07x2.62V 25.07x2.62W 25.07x2.62V
Partes estancas hastp Rosca cénica (Teflon) Junta térica Junta térica d'alta presion Junta térica Junta térica d'alta presion
recipiente (mm) 28.3x1.78WM13) 33.3x2.4V(13) 28.3x1.78WM13) 33.3x2.4V(13)

Nota: El nUmero de soportes corresponde con la leyentimflg.1.

Emerson Climate Technologies GmbH

www.emersonclimate.eu

Am Borsigturm 31 |1 13507 Berlin | Germany

Date: 26.07.2019

OW45_0Ol_ML_RO05_865893.docx




4

&

Instrucciones de funcionamiento
Sistema de supervision del nivel de aceite

S,

EMERSON. OwW4 /| OW5 TraxOill
General OW4.../OW5...: (ver Fig.1)
Unidad base OWA4..(60 bar) | OWS5...(100 bar) OWS5...(100 bar) OWA4... (60 bar) | OWS5...(100 bar) | OWa4... (60 bar) OWS5...(100 bar) | OWA4... (60 bar) | OWS5...(100 bar)
HFC/ mezclas HFQ
’ HFC/ mezclas HF( HFC/ mezclas HF( HFC/ mezclas HFQ ’
Refrigerante seleccionadas & C{p co co seleccionadas & C{ co seleccionadas & C co selzcgoonadas co
2
L
< |Junta térica del visor Alta presion Alta presion Alta presion Alta presion High Pressure
° [mm] 33.3x2.4W(2) 33.3x2.4V(4) 33.3x2.4V(4) 33.3x2.4W(@2) 33.3x2.4V(4) 33.3x2.4W(2) 33.3x2.4V(4) 33.3x2.4W(2) 33.3x2.4V(4)
< .
% visor (3 (6) (5) (3 () (3 (5) (3 ()
Arandela elastica (6)| 3 pcz - - 3 pcz - 3 pcz - 3 pcz -
Tornillo 3 tornillo 2 tornillo 2 tornillo 3 tornillo 2 tornillo 3 tornillo 2 tornillo 3 tornillo 2 tornillo
) M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x45
Tornillo ) 1 tornillo avellanad 1 tomillo avellanado M6x45 ) 1 tornillo avellanad ) 1 tornillo avellanad ) 1 tornillo avellanad
(8) M6x45 M6x45 M6x45 M6x45
Tipo de conexién Brida Rotalock
OMO-CUA* ‘ OMO-CUA CO2* OMO-CUD CO2* OMo-CCcC* ‘OMO-CCC co2* OMO-CCD ’ OMO-CCD CO2 OMO-CCE ‘ OMO-CCE CO2
4
4 — ez
7 ¥ .
w w
4 z
| : : %Z’%I
Tipo de adaptador | g0 60 Eq 36 g 36
= i
g 8% I}
A !
) «— 36— - 40—
[=]
g Tamafio 3-/4-holes 3-/4-holes 6-/6 holes 3 holes 3ole 1-3/4"-12 UNF 1-1/4”-12 UNF
< .
Ndmero Identif. 805037 805337 805049 805041 805341 805042 | 805342 50480 | 805343
Parte principal Adaptador de bridél5) Adaptador de bridél5) Adaptador de bridél5) Adaptador de Rosqd7) Adaptador de Rosqd7)
Parte secundaria - - - - - - - - -
Junta térica (mm) Alta presion Alta presion Alta presion Alta presion Alta presion
(10) 25.07x2.62W 25.07x2.62V 25.07x2.62V 25.07x2.62W 25.07x2.62V 25.07x2.62W 25.07x2.62V 25.07x2.62W | 55 4742 G2V
- - - L - Junta térica d'altal
Junta torica Junta térica d’alta] Junta toérica d'alta presion Junta térica 2 " "
Partes estancas hasta 33.3x2 AW presion 33.3x2.44 33.3x2.4V 33.3x2.4W presion Junta PTFE 1-3/4 Junta PTFE 1-1/4
recipiente (mm) 33.3x2.4V (18) (18)
(16) (16) (16) (16) (16)

Nota: El niUmero de soportes corresponde con la leyentimflg.1.

Emerson Climate Technologies GmbH
Am Borsigturm 31 |1 13507 Berlin | Germany

www.emersonclimate.eu

Date: 26.07.2019

*) piezas de tornillo Nd&ra la sujecion no es parte de la entrega.

OW45_0Ol_ML_RO05_865893.docx



4
&

&

EMERSON.

Istruzioni operative
Sistemi di monitoraggio del livello olio
TraxOil OW4 /| OW5

D,

Informazioni generali:

Tutte le versioni utilizzano un sensore di Hall pgisurare il livello olio. Un
galleggiante magnetico cambia la sua posizionanazibne del livello dell'olio.

Il sensore di Hall converte questi cambiamenti ci@hpo magnetico in un
segnale che viene utilizzato per mostrare il livedlio tramite i LED. Per
applicazioni in sistemi di refrigerazione in acamadla EN 378.

Notas:

A Istruzioni di sicurezza:

OWA4... é stato sviluppato per i refrigeranti HFC, perle applicazioni CO, '
subcritiche e per specifiche miscele HFO.
sono progettati specificatamente per sistemi @;, transcritiche e |
devono essere utilizzati con adattatori specificigr CO..

OWS5...

Componenti del sistema:(vedere la tabella sotto e la Fig,3)

N° |Descrizione N° | Descrizione

1 |Unita base 11/1jAdattatore con attacco filettato

2 |Spia olio G:ring OW4 13 |O-ring posteriore adattatc

o Flangia Alluminio (OW4) /

3 | Spia olio OW4 14 Acciaio (OW5

4 | Spia olio O-ring OW5 15| Adattatore a flangia

5 |spia olio OW5 16 O-ring posteriore adattatore a

flangia
6 |Rondella: 3 pz (OW: 17 |Adattatore Rotaloc
7 |Viti (V6 x 45) 18 O-ring posteriore dell'adattatorg
Rotalcck
- onnettore per relais
8 |Vite a testa svasata 1pz (OW5 1 W-24V-3
9 $upporto viti per il trasporto (dg 20 | Connettore per relais OM3-Nx:
rimuovere)

10 |O-ring frontale adattato

Dati tecnici:
ow4 OW5
Massima pressione di esercizio PS |60 bar 100 bar
Pressione di Prova PT 66 bar 110 bar
RN ) HFC/ miscele HFOQ

Compatibilita del fluido selezionate & Ciy solo CQ

Tensione di alimentazio

24VAC+10%, 50/60 H:

Corrente 0.05A

Caratteristiche Contatto Allarme 3A/230 VAC

Contatto allarme SPDT

Ritrado avvertimento 10 sec. 10 sec.
Ritardo Allarme 20 sec. 120 sec
Temperatura del fluido -20...+80°C

Temperatura traspim, immagazzinamen
e ambient

-15...+50°C (involucro)

Classe di protezione

IP65 (IEC529EN60529)

Marchio

secondo EMC e Basso Voltagg,c €

Emerson Climate Technologies GmbH
Am Borsigturm 31 |1 13507 Berlin | Germany

www.emersonclimate.eu

Nota: Il galleggiante contiene piombo e deve essaieiclato dopo I'uso!

A: Installazione con adattatore a vite: (vedere Figl-3)

Tipi di adattatore: OMO-CCA, OM0-CBB, OM0-CCB + Versioni CO,
1.

2.

3.

. Posizionare I'O-ring (10) nell’adattatore (11 o 1@to frontale). : ) 4 . ) per :
. Posizionare la scanalatura nelladattatore (14h&a con il marchio sull'unitd particolare attenzione per il pericolo dovuto ai véori di pressione.

Nota: per il corretto funzionamento ['unita deve essere mntata
orizzontalmente ruotando 'anello adattatore (14) Fig.3).
B-Serrare le tre viti (7 & 8) a mano, poi stringeradyalmente ed in modo
uniforme di Y2 giro fino a raggiungere la coppial@iNm. Questa procedura &
obbligatoria per garantire la completa tenuta.

Leggere attentamente le istruzioni operative. La macata osservanza pu
causare danni al componente, guasti al sistema oqgwocare lesioni alle
persone.

In accordo alla EN 13313 questo prodotto deve essgentilizzato da g. |nstallazione con adattatori Rotalock: (vedere Fg.1-3)

personale specializzato con le adeguate conosceazmmpetenze. Tipi di adattatore: OMO-CCD. OMO-CCE + Versioni CO,

In presenza di un impianto altamente contaminato, an respirare i vapori - - —— - . - .
acidi ed evitare il contatto della pelle con il raigerante/ lubrificante L;EES;/;?|g“v?t?2”|!2”izugﬁ> oétl?rgr']f:mpe (?I lato posteriore utilizzati per
contaminato. L'inosservanza puo produrre lesioni. . o~ P S asp
. N P A . . 2.Posizionare I'O-ring (10) nell’adattatore (latorftale).
Prima di aprire qualsiasi circuito frigorifero accertarsi che la pressione all Posizionare la scanalatura nelladattatore (15/h7)inea con il marchio
suo interno sia stata abbassata fino al valore atrsterico. 'sull’unita base (1 (Fig.2)
Non superare | \_/alon massimi specmcat_l per le pessioni, le temperature,Z'Montare I'unita base (1) insieme all'O-ring (10)Iswdattatore (15/17).
la tensione di alimentazione e le correnti elettrice. L S )
. h B ) i . . 3.Serrare le tre viti (7 & 8) a mano, poi stringemadyalmente ed in modo
Prima dell'installazione o interventi in assistenzatogliere tutte le . P : S X
} - . S L uniforme di % giro fino a raggiungere la coppial@Nm. Questa procedura e
alimentazioni dal sistema e dai dispositivi. . - :
obbligatoria per garantire la completa tenuta.
4.Rimuovere la spia dell'olio dal vessel.
5.Montare la guarnizione in PTFE (18) sul dado dddtatore (17). Mettere il
componente assemblato sulla connessione del retpitenendo orizzontale
Preparazione: Rimuovere il tappo o il vetro spitaddettatura del recipiente cOMe da Fig.3 stringere a mano e applicare una&dpp0 Nm per OMO-CCD
assicurandosi che Ia filettatura sia priva di reiséti materiale di tenuta e che (Chiave da 50 mm) e 65 Nm per OMO-CCE (chiave den#d).
non vi siano danni. 6.Montare la linea di ritorno olio al connettore (25)

Posizionare l'anello adattatore (14) sulla conmessifilettata del recipienté\m Per un corretto funzionamento, l'unita deveessere montata in
senza stringere. posizione orizzontale (Fig.3).

Montare l'adattatore (11 0 12) tenendo in consiziere le seguenti tipologieNota_2: Verificare tenuta adattatore Rotalock dopo 1-2 giorni

Adattatori con filettatura conica NPTFE (11): funzionamento.

- Controllare che la parte filettata e la superfidietenuta sia priva dic: |nstallazione con adattatore a flangia: (vedereFig.1-3)

ammaccature e bave. . . . Tipi di adattatore: OMO-CUA, OM0-CCC + Versioni C
- Awvvolgere il nastro in teflon intorno al filetto reehio nella corretta direzion utilizzo dell'adattatore a flangia & applicabéereciients che hanno la stessa
- Awitare l'adattatore nella sede e stringere a nfarwin fondo. disposizione dei fori come gl’adattgt%re Quest% aghsce [installazione
- Serrare con una chiave applicando 80 Nm per lee=ssioni 3/4™-14NPTF orizpzontale del OW (Fig.3.4) ' g
- Non girare in senso contrario! : 1 OW G- 3,4). S
Attenzione: un eccessivo o un insufficiente serrg@, danneggera il 1. Seguire le |nd_|caz|on| da1 a6 come per | |ns_m_dje_\e Rotalo_qk sopra.
Frvea—— ’ 2. Montare 'O-ring (16) tra I'adattatore (15) e ilcipiente. Utilizzare viti M6

} fsllsnsi%ﬁ:?ﬁg{;g{:;?g;dg?é rinortate sotto (non comprese nella fornitura) e stringere in tedigeistruzioni del costruttore
o p ’ del recipiente.

Adattatori con filettatatura UNF/UNEF (12):
OMO-CBB + Versioni CO,: montare I'O-ring (13) sulladattatore (12). Farrova di pressione:
attenzione al corretto posizionamento dell’O-ringllan sede durante iIA
montaggio dfall’adf_:ltta_tore_. S_tringere a mano e apmi una coppia di jicato di seguito:

50 Nm. Seguire Ie_|n(_j|ca2|on| d_a_4- 8 riportatéeo .- in accordo alla EN 378 per i sistemi che devonpetiare la Direttiva PED
OMO-CCB + Versioni COz: posizionare I'0-ring (13) nella sede femming, 4/65/EU.

del recipiente — non riutilizzare il vecchio O-rirdella sede femmina,
Stringere a mano e serrare a 50 Nm. Seguire lednitini da 4 - 8 riportate
sotto.

di

| termine dellinstallazione deve essere eseguitotest in pressione come

alla massima pressione operativa per i sistemiettigr altre applicazioni.
Attenzione:

. Rimuovere gli anelli in il supporto di cartone (@l lato posteriore utilizzat 1l non rispetto di queste indicazioni potrebbe cauare perdite di refrigerante

e lesioni alle persone.
« |l test in pressione deve essere eseguito da perafen qualificato con

per assicurare le viti e la spia olio duranteaporto.

base (1) (Fig.2).

. Montare I'unita base (1) includendo -ring (10) all'adattatore (14

Date: 26.07.2019 OW45_0OI_ML_RO05_865893.docx



&
EMERSON

Istruzioni operative

Sistemi di monitoraggio del livello olio

TraxOil OW4 / OW5

D,

Prova di tenuta:

Eseguire un test di tenuta in accordo alla EN 378iizzando attrezzature «

modalita idonee per identificare perdite dalle gioni.

Cablaggio:

e Collegare OM3-Nxx cable (20) al relais coma daF;ig.

BU = blu

BK = nero

BN = marrone
Collegare i cavi OW-24V-3 (19) all'alimentazione\24C.

* La coppia di serraggio raccomandata per le viti a®inettori & 0.18Im
(serraggio a mano).

» Nota: Non azionare direttamente il compressore. Utilizare invece il relé Funzionamento: (Fig.4)

di potenza del compressore. Vedere la Fig.4 pert@nnessione del’OWal

circuito di sicurezza (SL) del controllore della catrale.

Panoramica OW4.../OW5...: (vedere Fig.1)

OW4/5 & completamente controllato dal livello oli@ spia olio & divisa in

zone funzionali. Quando il livello raggiunge la aogialla (Yellow), il sistem
OW accede il LED giallo con un ritardo di 10 sec.. Uneuibre abbassamer

del livello nella zona rossa (Red) attiva il rethyllarme con un ritardo @0 sec

(OW4) 0120 se (OWS5).

La situazione corrente € indicata mediante 3 LEDe&da tabella seguente:

Condizioni Operative / . Posizione

Stato Funzione Contatto LED

Alimentazione é spenta @ .

il livello del olio & ok | BRBU U0l erge @

normale (60 - 40%) P

Livello olio (~ 40%) OK verde @ Giallo©
Livello olio < 40% Attenzione Giallo

Livello olio troppo basso BK-BU aperto ) .

< 25% Allarme | gy e dhiuso| Rosso @ ciad

Unita base OWA4... (60 bar) OWS5... (100 bar) OW4... (60 bar) OWS... (100 bar) OW4... (60 bar) OWS... (100 bar)
) HFC/ miscele HFO selezionate HFC/ miscele HFO selezionate HFC/ miscele HFO selezionate
- Refrigerante & CO, CO; & CO, CO; & CO, CO,
= Soia ofi - - -
o pia olio Alta pressione Alta pressione Alta pressione
2 O-ring (mm) 33.3x2.4W(@2) 33.3x2.4V(4) 33.3x2.4M(2) 33.3x2.4V(4) 33.3x2.4M2) 33.3x2.4V(4)
% Spia olio (3 (5) 3 5) 3 ®)
Rondelle (6) 3 pezzi - 3pezzi - 3pezzi -
Viti (7) 3viti M6x45 2viti M6x45 3viti M6x45 2viti M6x45 3viti M6x45 2viti M6x45
Viti (8) - 1 vite svasatdM6x45 - 1vite svasatdM6x45 - 1vite svasatdM6x45
Tipo di attacco Filettatura NPTF Filettatura UNF/UNEF
OMO-CCA ‘ OMO-CCA CO2 OMO-CBB OMO0-CBB CO2 OMO0-CCB ‘ OMO0-CCB CO2
=\ 7 N
N e
Tipo di adattatore ( ' 36
—& — hd N
g b= 30— Lf 34— %
]
§ Connessione 3/4“-14 NPTF 3/4“-14 NPTF 1-1/8"-18 UNEF 1-1/8"-12 UNF
<
Codice 805039 805339 805038 805338 805040 | 805340
Parte principale Adattatore a vite in allumini¢l2) Adattatore a vite in allumini¢l?2) Adattatore a vite in allumini¢l2)
Parte secondaria Flangia alluminia(14) Flangia Acciaio(14) Flangia alluminio(14) Flangia acciaig14) Flangia alluminio(14) Flangia acciaiq14)
. Alta pressionéD-ring Alta pressioné)-ring Alta pressioneD-ring
O-Ring (mm) (10) 25.07x2.62W 25 07%2.62V 25.07x2.62W 25 07%2.62V 25.07x2.62W 25 07%2.62V
Parti di tenuta . . ) O-ring Alta pressioné)-ring O-ring Alta pressionéD-ring
sul recipiente (mm) Filettatura conica (nastro di Teflon) 28.3x1.78W(13) 33.3x2.4V(13) 28.3x1.78W(13) 33.3x2.4V(13)

Nota: | numeri in parentesi corrispondono alla legendgiglil.

Emerson Climate Technologies GmbH

www.emersonclimate.eu

Am Borsigturm 31 |1 13507 Berlin | Germany

Date: 26.07.2019

OW45_0Ol_ML_RO05_865893.docx




&
EMERSON

Istruzioni operative

Sistemi di monitoraggio del livello olio

TraxOil OW4 / OW5

D,

Panoramica OW4.../OW5...: (vedere Fig.1)

Unita base OWA4... (60 bar) | OWS... (100 bar) OWS... (100 bar) OWA4... (60 bar) | OWS5... (100 bar)| OWA4...(60 bar) | OWS5... (100 bar) | OWA4... (60 bar) | OWS5... (100 bar)
. HFC/ miscele HFQ HFC/ miscele HFQ HFC/ miscele HFQ HFC/ miscele HFQ
Refrigerante selezionate & C® CC Co selezionate & C® CC selezionate & C® CC. selezionate & C® CC,
[Te)
o) Spia olio Alta pressione Alta pressione Alta pressione Alta pressione Alta pressione
= O-ring (mm) 33.3x2.4WQ) 33.3x2.4V(4) 33.3x2.4V(4) 33.3x2.4M(2) 33.3x2.4V(4) 33.3x2.4M2) 33.3x2.4V(4) 33.3x2.4W2) | 33 30 av(4)
2 —
0 Spia olio (3) (5) (5) (3) (5) (3) (5) (3) (5)
Rondelle (6) 3 pezzi - - 3 pezzi - 3 pezzi - 3pezzi -
viti (7) 3viti 2 viti 2 viti 3viti 2 viti 3viti 2 viti 3viti 2 viti
M6x45 M6x45 M6x45 M6x45 M6x45 M6x45 M6x4E M6x45 M6x45
Viti (8) - 1 vite svasatdM6x45 1 vite svasatdM6x45 - 1vite svasatdM6x45) - 1 vite svasatdM6x45 - 1 vite svasatdV16x45
Tipo di attacco Flangia Rotalock
OMO-CUA* ‘ OMO-CUA CO2* OMO-CUD CO2* OMO-CCC* ‘OMO—CCC CO2* OMO-CCD ’ OMO-CCD CO2 OMO-CCE ‘ OMO-CCE CO2
4 ; o
4 —
; T ¥ -
w w
b 5 I
2 =)
Tipo di adattatore 60 6 Ea 36 Ex 36
£ EX
g3 8% 1]
t !
o +«— 36— -« 40—
=}
IS
E Connessione 3-/4-holes 3-/ 4-holes 6-/6 holes 3 holes 3dole 1-3/4"-12 UNF 1-1/4"-12 UNF
< Codice 805037 805337 805049 805041 805341 805042 | 805342 50430 | 805343
Parte principale Flangia alluminio(15) Flangia alluminio(15) Flangia alluminio(15) Dado e flangia allumini¢17) Dado e flangia alluminig¢17)
Parte secondaria - - - - - - - - -
0-Ring (mm) (10) 25.07x2.62W Alta pression€-ing Alta pressioné-ring 25 07x2.62W Alta pression€-ing 25.07%2.62W Alta pressioné-ring 25.07%2.62W Alta pression€-ring
9 ' ' 25.07x2.62V 25.07x2.62V ’ ' 25.07x2.62V ' ' 25.07x2.62V ' ' 25.07x2.62V
- O-ring Alta pression€-ing Alta pressioné-ring O-ring Alta pressiond-ring . ayan . 1qan
o ‘f;;‘igt('rtﬁm) 33.3x2.4W 33.3x2.4V 33.3x2.4V 33.3x2.4W 33.3x2.4V G“a'”'z""zleg)TFE 1-3/4 G“a'”'z""zi;)TFE 1-1/4
P (16) (16) (16) (16) (16)

Nota: | numeri in parentesi corrispondono alla legendgiglil.

Emerson Climate Technologies GmbH
Am Borsigturm 31 |1 13507 Berlin | Germany

www.emersonclimate.eu

*) Viti M6 per il fissaggioon fanno parte della fornitura.

Date: 26.07.2019

OW45_0Ol_ML_RO05_865893.docx



&
EMERSON

PykoBoACTBO no akcnnyaTauuu
CucTteMbl KOHTPONA YPOBHA Macna
OW4 / OW5 TraxOil

RV

O0mas nnpopmanus:

Bce Mojenu HCMONB3YIOT JaT4MK XOJula JUIi H3MEPEeHHs YPOBHS Macia.
TTomaBoK ¢ MarHUTOM MEHSIET MOJI0XKEHNE B COOTBETCTBHU C YPOBHEM Macia.
Jarunk Xoina npeobpa3yeT M3MEHEHUs] MarHUTHOTO IOJIST B OKBHBAJICHTHBIN
CHTHaJI, KOTOPBI HCIIOJIb3YETCs! BETPOCHHBIM KOHTPOJUIEPOM JULsl 0003HAYCHHS
YPOBHSI Macja cBeTOAMOAaMH. JIIsi IPUMEHEHUs] B XOJIOAMIBHBIX CHCTEMax B
cootercrBuu ¢ EN 378.

Buumanue:

OWA4... pazpaboran s xiaagarentos tuna [ @Y, cyoxpurnueckoro CO, u
HeKOTOpbIX cMeceii ['DO.

OWS5... npeaHa3HaveH 1Sl TPAHCKPUTHYecKHX cucTteM Ha CO; M OKHBI
HCIOJIb30BATHCS TOJBKO BMECTE CO CHeNHAJbHBIMH aganTepaMmu

KomnonenTol: (cMoTpuTe Tadaumuy Huxke u puc.1,3)

Ne Onucanue Ne Onucanue
1 [Kopnyc npubopa 11/1%|Pe3b6oBoii ananrep
2 |Mpoxnanka cMotp.crekia OW4 |13 [TIpokiajka ajantepa K Cocyay
3 CmotpoBoe crekiio OW4 14 DyaHLEBOE KOJIBLO, ATFOMUHUM
(OW4) /crans (OW5)
4 [IIpoknanka cmorp.crekiia OWE  [15  |®uaHueBblii aganrep
5 CmotpoBoe crekiio OW5 16 IMpoxnazka raHm.ananTepa K
cocyny
6 |[pyxkunnas maii6a: 3 X (OW4) | 17 |Anmanrep Rotalock
7 Bunr (M6 x 45) 18 Ipoknanka anantepa Rotalockk
cocyny
8 BuHT ¢ noraiiHoii ronoBkoii 1 X 19 CuoBoi kabeb MUTaHHS
(Ows) OW-24V-3
9 Kaprou s Tpascrioptuposiu 20 |Peneiinbiii kaGenb OM3-Nxx
(ynanuts)
1C |IIpokiazka aganrtepa K mpuobopy
TexHu4yecKkHe TaHHBbIE!
ow4 ows
MaxkcumaibHoe pabouee nasienue PS 60 Gap 1006ap
[lasienue ucnpiranusi PT 66 Gap 1106ap
CoBMeCTHMOCTS BoIOpanHbie [V / [ronsko CO,
PO cmecu u CO,
Hanpskenie nuraHus 24 B nep. Toka +10%, 50/6(T 1
Tok 0.05A
XapakTepHuCTHKa aBapHIHOTO KOHTAKTa 3A/230B niep. Toka
|ABapuiiHbIH penelHblii KOHTAKT SPD1
BpemeHHas 3aiep)KKa TPeyTpekAeHHs 10 cexyHI |1O CeKYHJ
BpemeHHast 3aiepykka-aBapuiiHoro curnana |20 cexyHz |120ce1<y1-m
Temneparypa paboueii cpejibl -20...+80°C
Temriep. XpaHeHUs U TPAHCIIOPTHPOBKH, L15.. +50°C gopyc)
Okpyskarolas Temieparypa
[ltyiep nogauu mMacia IP65 (IEC529EN60529)
Maprarponia c E 000pyIOBaHus U O
SHCKTPOMaFHHTHOﬁ COBMECTHMOCTH

A O6mas nadopmanmus:

* BHuUMaTeIbHO  NPOYMTAiiTe  MHCTPYKUHMI0O 10  JKCILIyaTALUH.
HeucnojHeHHe MHCTPYKLIHH MOKET NPHBECTH K OTKa3y YCTpOWcCTBa,
BBIXO0/ly M3 CTPOSI X0JIOAMJIBHOI CHCTEMBbI HJIM K TPABMAM IEPCOHAJIA.

e Cormacho EN 13313 k o006CIay:KMBaHMIO [OIyCKaeTcs TOJILKO
KBAJU(UIHUPOBAHHBIH M HMelIMilT Heo0XoAMMbIe pa3pelleHus
nepcoHa.

* B ciayuyae CHJIBHOIO XHMHYECKOr0 3arpsi3HeHHMsl cHCTeMbl H30eraiite
BABIXaHHUS MAPOB KHCJIOT, 4 TAKKE NMONAJAHUS HA KOXKY 3arpPs3HEHHBIX
xaanarenToB / macen. Hecobmonenne THX TpeGoBaHMii MOJKeT NPUBECTH
K TPAaBMaM NePCOHAJIA.

* Ilepen oTkpbITHEM J1I000ii cHcTeMbl yOeauTech, YTO JaBjeHMs B Hel
CPaBHAJIOCH € ATMOC(HEPHBIM.

* He npeBblmnaiite ykazaHHble npejejbHbIe
TeMIepaTyphbl, HANPSKEHUS U CHJIbI TOKA.

* Tlepex MOHTa:KOM HJH CEPBHCHBIM 00CJIY)KHBAHHEM OTCOEIHMHUTE OT
CHCTEMBI M BCeX e€ yCTPOiicTB HaNpsKeHHe MUTAHUSA.

Buumanue: IonaaBok coaepKHT CBHHEL M NMOJICKUT nepepadoTke mocjie

HCNOJIb30BAHMS

3HAYCHUA [JaBJICHHUSA,

A: YCTAHOBKA C PE3bEOBBIM AJIAITEPOM: (puc.1-3)
Moznean: OMO-CCA, OM0-CBB, OM0-CCB + CO,- Bepcust

1. TloaroroBbTe pe3bOOBOC COCAUHEHHE COCYH: YHAlIHTE 3ariylIKy WIH
CMOTPOBOE CTEKJIO M yOeauTech, 4YTO Ha pe3bOe HET MOBPEeXIACHHH U
YIUIOTHHTEJIBHBIX MaTePHaJIoB

2. Tlomecrute KombLO ananrepa (14) Ha pe3s0y.

3. VYcranosure aganrep (11/12)B COOTBETCTBHHY C €rO THIIOM!

Jns ajantepoB ¢ Konnveckoii pe3s6oil NPTF (11):

- TIpoBepbTe OTCYTCTBHE MOBPEXK/CHUI HA pe3bOe.

- O6epuure TeIOHOBOH JEHTOIl pe3bOy amanTepa B COOTBETCTBYIOLIEM
HAIpPaBICHHH

- YcraHoBuTe pe3b00BOit aganTep U 3aTSHUTE «OT PYKU».

- Hcronp3yiite muHamMomerpuy.kimou ¢ ycuaneM 80HM st pe3sObr 3/4”-
14NPTF.

- He Bpamaiite B 00paTHyt0 CTOpOHY!

- Ipenynpesxnaenne: Ilepe Win HeJOCTATOYHAS 3ATSKKA NPHBENET K
MOBPE:KICHUIO Pe3bObI HIIH yTeuKe.

- Hanee cienyiite mynkram 4 - 8.
Jisl AIANTEPOB ¢ HMJIMHAPHYecKoii pe3ndoit UNF/UNEF (12):

- OMO-CBB + CO,- Bepcust: ycraHosure npoknajky (13) na aganrep (12).

OOpaTute BHUMAaHHE Ha MPABUIBHOE PACMONIOKEHHE MPOKIAJIKU TPH
MOHTaXxe anantepa. Mcnons3yiite auHamMoMeTpud.kiro4 ¢ yenmuem 50 Hm.
Crientyiite myHkram 4 - 8.

- OMO-CCB + CO,- Bepcusi: ycraHoute npoknajaky (13) B yriyOnenne
cocyna. He  wucnomesyiite crapyio  npoxiaaky.  Mcmousb3yiite
JHaMoMeTpud ko4 ¢ yeunrem 50 Hm. Crientyiite myHkram 4 - 8.

4. Ynamure KapToH, KOTOpbIA (9) 3amuimaer BHHTHI W CTEKIO BO BpeMs

TPAHCIIOPTUPOBKHU.

5. VYcranosure npokiazaky (10)B aganrep (11/12) ¢ hpoHTanbHO CTOPOHBL)
6. ComectuTe OTMETKH Ha Koublie ananrepa (14)u kopryce npubopa (1) B oxny
nuuio (puc.2).

7.Coenunure xopimyc npubopa (1) ¢ npoxnagxoit (10) i xonsrom aganrepa (14).

Buumanue: 17151 npaBH/ILHOM PadoThbl NPUOOP HY’KHO YCTAHOBHTDH CTPOIO
rOpPH30HTAJILHO, Bpauias Koiblo aganrepa (14) puc.3).

8.3arsHure 3 BunTa (7 1 8) cHauaNa BPYUHYIO, 3aTEM IIOCTEIICHHO U PABHOMEPHO

JIOTATHBaiiTe 10 ¥2000p0Ta MOKa HE JOCTUTHETE MOMEHTa 3aTshkku 12 Hm. D10
HEOOXOMMO [UIs TOTO, 4TOOBI H30eXKaTh yTeUeK XJIadarcHTa.

B: YCTAHOBKA C AJANITEPOM Rotalock: (puc.1-3)

Mopnens: OMO-CCD, OMO-CCE + CO,- Bepcust

1. Vaanure KaproH, Kortopblii (9) 3ammiiaeT BUHTBI M CTEKIO BO BpEMs
TPAHCIIOPTUPOBKH.

2. Ycranosure npoknazaxy (10)B agantep (¢ hpoHTaIBHOI CTOPOHBI).

3. CoBmecTuTe OTMETKH Ha Kouiblie agantepa (15/17)u xopmyce npubopa (1) B
ozHy JiHUIO (pHC.2).

4. Coemuunre xopmyc npubopa (1) ¢ mpoxmaaxoit (10) u xomblom apamrepa
(15/17).

5. 3arsaure 3BunTa (7 11 8) CHauana Bpy4HYIO, 3aTEM IIOCTEIICHHO I PABHOMEPHO
JOTSATUBaiiTe 10 %2 000poTa MoKa He JTOCTUTHETE MOMEHTa 3aTsHKKH 12 Hw.
D10 HEOOXOUMO IS TOTO, YTOOBI M30eXKaTh yTeUeK XJIafarcHra.

6. Vgamure CMOTPOBOE CTEKIIO C KOMIIPECCOpa.

7. Ycranosure npokianky PTFE (18)s aganrep (17). Ycranoure cGOpKy Ha
cocyn coOmogas TOpu30HTANBHOCTH (puc.3), CHauama «OT PyKH», 3aTeM
kiodoM ¢ yerimem 90 Hwm mis OMO-CCD pasmep kimoua 50 mm) 1 65 Hm
st OMO-CCE pasmep kiroua 42 Mm).

8. TIpucoeMHUTE JIMHUIO IOa4M Macia - pe3pda 7/16-20 UNF (25).

Buumanue 1: 1151 NpaBHIILHOI PaGoThl MPUGOP HY’KHO YCTAHOBUTH CTPOrO

ropu3onTanbHo (puc.3).

Buumanue 2: Ananrtep Rotalock moskeH 6bITh 0NOTHUTEIBHO NPOBEPeH

HA repMEeTHYHOCTH mocJie 1-2 qHeii paGoThl.

C: YCTAHOBKA C ®JAHIOEBBIM AJANTEPOM: (puc.1-3)

Mozeas: OMO-CUA, OMO-CCC + CO,- Bepeust

Hcnonp3yiite (aHIeBbli afganTep sl COCYI0B, KOTOPbIE HMEIOT aHAIOTHIHbIE

otepcrust. Coburoaiite ropu3oHTaIbHOCTh ycTaHoBKH OW (puc.3).

1. Crepnyiire nynkram 1-6 aHanoru4Ho ycTaHoBKH ajanrepa Rotalock.

2. YcranoBute mpokianky (16) wmexamy amanrepom (15) u  cocymom.
HWcnons3yiite 3-6 BunTa M6 (He BXOIAT B KOMIUIEKT [IOCTABKH) U 3aTSHHUTE B
COOTBETCTBUH C PEKOMEHAALUSIMH TIPOU3BOIHUTENIS COCYA.

HcnpiTaHHe HA NPOYHOCTD!:

TMociie OKOHYAHMSI MOHT&XA WCIBITAHUE HA IPOYHOCTH JOJDKHO MPOBOIUTHCS
CIIeIyIOIUM 00pa3oM:

- ... B coorBerctBuu ¢ EN 378 mus cucrem, moamazamomux IOJ ACHCTBHE

EBpomneiickoil  aMpeKTUBBI
JIABIICHUEM). ..

14/68/EU (GopymoBanue, paboraroiiee O[T

- C MaKCHMAaJbHbIM Pa0OYUM NaBICHHEM CHCTEMBI [Tl APYruX NPUMEHEHUH.

A Hpenynpexaenue:

* Hesbinonenue 31oro TpedoBaHusl MOXKeT NPUBECTH K yTeuKe XJIaJareHra

U TPaBMAaM IepCcoHaIa.

* HcnpiTanue Ha NPOYHOCTH J0/KHO NPOBOAMTHCS KBAIH(DUIHPOBAHHBIM

MepPCOHAJIOM; MPHU 3TOM He00X0IUMO NPpUHUMATH BO BHUMaHHE ONIACHOCTh
BBICOKOI'O TaBJICHUSA.

Emerson Climate Technologies GmbH www.emersonclimate.eu

Am Borsigturm 31 |1 13507 Berlin | Germany

Date: 26.07.2019 OW45_0OI_ML_RO05_865893.docx



4

&
EMERSON

PykoBoACTBO no akcnnyaTauuu
CucTteMbl KOHTPONA YPOBHA Macna
OW4 / OWS5 TraxOill

HcnpiTaHUE HA TepMETUHYHOCTH:

Jinst ompeneneHHsT HAIMYMsl yTedeK HEOOXOAMMO MPOBECTH MHCIBITAHHE HA
TepMETHYHOCTb B COOTBETCTBHH ¢ TpeboBanmsiMu EN 378-2.

IMoakaoyenue:
Buumanune: He BbIkiIoyaiiTe koMmmpeccop Hanpsimylo. Hcmoab3yiite
KoHTakTopsl. Ha Puc.4 nokasano npucoequnenne OW kK KoHTYpy
Ge3omacHocTH (SL) KOHTpoOJLIEpa KOMIIPECCOPHOI CTAHIIMH.
e TIpucoemunure kabeiar OM3-NxX (20)k pesneifHOMy COEAMHEHHUIO COTJIACHO
puc.3,4:
BU = cunnii

BK = uepHsrit BN = kopuuHeBbIit

O630p OW4.../OW5...: (cm.puc.1)

e Tlopcoemunure kabens OW-24V-3 (19) k wucrounnky nutanus 24B
[IEPEMEHHOTO TOKA.

* PeKOMCHIOBaHHBIH MOMEHT 3aTSDKKH JUIsi BUHTOB KaOCIbHBIX Da3bEMOB
0.15Hwm (3aTspKKa BPY4HYIO).

Padora: (Puc.4)

OWS4/5 obecrieunBaeT MOJHBIA KOHTPOJIb W PETyIMPOBaHHE YPOBHS Macia.
CMOTpOBOE CTeKJI0 Iprdopa pasjeneHo Ha Tpu paboune 30HbI. Kornaa ypoBeHb
nocruraer xenroil 30ubl (Yellow) OW Bkirodaer jkenThlil CBETOAMOJ MOCIe
sagepxkkn B 10 cex. JanbpHeiimee nanenue yposHs (Red B kpacHyr 30HY
Bo3oBer mociie 3ajepxkkn 20 cex. (OW4) wim 120 cek. (OW5) BimoueHne
aBapHifHOro peJe.

Tekymee cocrosiHue mnpudopa ompexemsercs mo 3-m LED wuxaukaropam,

COTJIACHO ClIeyoleii Tabuuie:

Veaosust pagorst / Crarye | ®ynkuus | Contact position | CBETOAUOJ
oo | e |
_ €JICHBIN
(60-40% BK-BN pa3zomkHyT
Vposeus Maca (GIH3KO K oK Soncrmii | @ |
40%) Kenteiit )
VYposens macia < 40% TIpenympe . e}
AICHHE Kenrorit
VPOBeflb Maciia CIMIIKOM Curnan | BK-BU paszomkuyt | Kpacubiit (3
HH3KHH aBapuu BK-BN 3aMKHYT | JKernrerii (@]

Kopnyc npu6opa OW4... (60 6ap) OWS... (1006ap) OWA4... (60 6ap) OWS... (1006ap) OW4... (60 6ap) OWS... (1006ap)
BbIOpannubie DY / TDO cmecu BbIOpanHbie [DY / TDO cmecu BbIOpanHbie DY / TDPO cmecu
XJj1agarenr 1w CO, CcO, 1w CO, CcO, 1w CO, CcO,
g Mpoxanxa Beic.qaBiaeHue Bric.qaBiaeHne Bric.qaBaenune
CMOTPOBOIO CTEKJIa 33.3x2.4W(2) . 33.3x2.4W(2) . 33.3x2.4W(2) .
9 (M) 33.3x2.4V(4) 33.3x2.4V(4) 33.3x2.4V(4)
<
% CMOTpOBOE CTEKIIO0 3) (5) 3) (5) 3) (5)
prmunz{g)ﬂ maiiboa 3 } 3 ) 3 )
Bunr (7) 3wt M6x45 2t M6x45 3wt M6x45 2wt M6x45 3wt M6x45 2wt M6x45
Bunr (8) - 1 wr M6x45 - lwr M6x45 - lwr M6x45
Tun coexunenus pesnda NPTF pe3b6a UNF/UNEF
OMO-CCA | OMO-CCA CO2 OMO-CBB ’ OMO0-CBB CO2 OMO0-CCB | OMO0-CCB CO2
- —~— N CN 7 N\
Tun agantepa ‘ ) 36 ‘ ) 36
=y oy N—/ S N
o) L— 30— L— 34— .
=
5 Coeaunenne 3/4"-14 NPTF 3/4"-14 NPTF 1-1/8"-18 UNEF 1-1/8*-12 UNF
aAPTHKYJI 805039 805339 805038 | 805338 805040 | 805340
Marepuaj aganrepa Auromunuii, pe3p00Boit aganrep (11) AnromuHuH, pe3p0oBoii axarnrep (12) Anomunui, pe3p6oBoii anarnrep (12)
Marepuan guianna amomunnii (14) cranb (14) amomunnii (14) crans (14) amomunnii (14) crais (14)
Bric.naBnenue Bric.n1aBnenune Bric.naBnenue
TIpoxaaaka (mm) (10)| 25.07x2.62W 25 07x2.62V 25.07x2.62W 25 07x2.62V 25.07x2.62W 25 07x2.62V
Ipokaaaka K cocyay MPOKJIa/Ka Bsic.1aBiieHne MPOKJIa/IKa Beic.aBneHne
(vm) pesnba (redonosas siexra) 28.3x1.78W(13) 33.3x2.4V(13) 28.3x1.78W(13) 33.3x2.4V(13)

Buunmanue: mudpsl B ckoOkax coorBeTcTBYIOT Ne Ha puc.l.

Emerson Climate Technologies GmbH www.emersonclimate.eu

Am Borsigturm 31 |1 13507 Berlin | Germany

Date: 26.07.2019

OW45_0Ol_ML_RO05_865893.docx



4

&

PykoBoACTBO no akcnnyaTauuu
CucTteMbl KOHTPONA YPOBHA Macna

EMERSON. OW4 / OWS5 TraxOll
0O630p OW4.../OW5...: (cm.puc.1)
Kopnyc npudopa OWA4...(606ap) | OWS... (1006ap) OWS... (1006ap) OWA4...(606ap) | OWS5... (1006ap) | OWA4... (60 6ap) OWS... (1006ap) | OWA4...(606ap) | OWS5... (1006ap)
BbIOpaHHbIe [DY / BbIOpaHHbie [ DY / BbIOpaHHbIe [DY / BbIOpaHHbie [ DY /
Xuragarent I'®dO cmecu CcO, [ef0X T®O cmecu CcO, T®O cmecu CcO, I'®dO cmecu COo,
H CCZ u COZ H CCZ u COZ
§ Tpoxaazka Bric.qaBiaeHue Bric.gaBiaeHue Bric.qaBiaeHue Bric.naBnenune Bric.naBnenune
) cmo-rpm(;or(; cTeKIa 33.3x2.4W(2) 333)(2.4\/(4) 33.3X2.4V(4) 33.3x2.4W(2) 333)(2.4\/(4) 33.3x2.4W(2) 33.3')(2.4\/(4) 33.3x2.4W(2) 33.3')(2.4\/(4)
~ MM
=
% CMOTpOBOE CTEKJIO 3) 5) 5) 3) 5) 3) (5) 3) (5)
Hp ymuﬂziﬁa)ﬂ maiioa 3t - - 3t - 3t - 3t -
B ) 3t 2 wr 2 mr 3wt 2 wr 3t 2 wr 3t 2wt
e M6x45 M6x45 M6Xx45 M6x45 M6x45 M6X45 M6x45 M6Xx45 M6x45
Buur ¢ noraiitoii - 1w M6x45 Lur M6x45 - Lurr M6x45 - 1t M6X45 - 1mt M6X45
rosioBKoii (8)
Tun coexnHenus ¢dnanen Rotalock
OMO-CUA* ‘ OMO-CUA CO2* OMO-CUD CO2* OMo-CCcC* ‘OMO-CCC co2* OMO-CCD ’ OMO-CCD CO2 OMO-CCE OMO-CCE CO2
4
4 40 s
7 T ¥ B
w uw
z z
: : T
Tun aganrepa 60 6 60 g o 36 Eo 36
g g JL
E !
«— 36— <« 40—
&
3 Coenunnenue 3- / 4-otBeperust 3- / 4-orBepcrust 6-/6 otBepcTHS 3 orBeperHst 3 orBeperast 1-3/4"-12 UNF 1-1/4-12 UNF
< APTHKYJI 805037 805337 805049 805041 805341 805042 | 805342 50480 | 805343
Marepuas aganrepa amomuHui (15) amomuHui (15) amomunnii (15) Asromunui, raiika u ¢uanen (17) Asromunui, raiika u ¢uanen (17)
MarepuaJ 1anna - - - - - - - - -
Bpric.1aBnenue Bbric.1aBnenue Bpric.aBnenue Beic.naBnenue Beic.naBnenue
Mpoxknagka (mm) (10)]  25.07x2.62W o5 07%2.62V 25 07%2 62V 25.07x2.62W o5 07%2.62V 25.07x2.62W 25 07%2.62V 25.07x2.62W 25 07%2.62V
MPOKJIaJIKa Bsic.naBnenne Bpbic.naBnenne O-ring Bsic.naBnenne an am
HP"““a‘(‘“a)" coeyyl  333x2.4W 33.3x2.4V 33.3x2.4V 33.3x2.4W 33.3x2.4V “p‘)“m‘“(‘lgFE 1-3/4 “PO““a“K*(‘l'gFE 1-1/4
MM (16) (16) (16) (16) (16)
Buumanne: nqudpsl B ckoOkax cootetcTByioT Ne Ha puc. 1. *BuHTH M6 1151 KperuieHus! (raHia K COCyLy B KOMIUIEKT IIOCTABKH HE BXOJIST.
Emerson Climate Technologies GmbH www.emersonclimate.eu
OW45_0OI_ML_RO05_865893.docx

Am Borsigturm 31 |1 13507 Berlin | Germany

Date: 26.07.2019



()

‘T§ Ow4/ OW5
EMERSON.

Fig.1/Puc.1: Fig.3/ Puc.3:

24 VAC Power supply \

O BU
OM3-Nxx

BK
Common
B
'D‘\ N/ /
20

Fig.4/ Puc.4:
Controller OW4/0W5
L st}—sud
BN
Vecl— BKA
BUA (Yellow)
BN

N BK

Emerson Climate Technologies GmbH www.emersonclimate.eu
Am Borsigturm 31 |1 13507 Berlin | Germany Date: 26.07.2019 OW45_0OI_ML_RO05_865893.docx




